& Paclasalai’s

weoo lelegram Groups!

( smeolIB@ H6p 2 eiten eIBens Hefld CFUIH Gupaled Rewewruiad! )

e Padasalai's NEWS - Group
https://t.me/joinchat/NIfCqVRBNj9hhV4wu6 NgA

e Padasalai's Channel - Group
https://t.me/padasalaichannel

e Lesson Plan - Group
https://t.me/joinchat/NIfCqVWwo5iL-21gpzrXLw

e 12th Standard - Group
https://t.me/Padasalai 12th

e 11th Standard - Group
https://t.me/Padasalai 11th

e 10th Standard - Group
https://t.me/Padasalai 10th

e 9th Standard - Group
https://t.me/Padasalai 9th

e 6th to 8th Standard - Group
https://t.me/Padasalai 6to8

e 1stto 5th Standard - Group
https://t.me/Padasalai 1to5

e TET -Group
https://t.me/Padasalai TET

e PGTRB - Group
https://t.me/Padasalai PGTRB

e TNPSC - Group
https://t.me/Padasalai TNPSC



https://t.me/joinchat/NIfCqVRBNj9hhV4wu6_NqA
https://t.me/padasalaichannel
https://t.me/joinchat/NIfCqVWwo5iL-21gpzrXLw
https://t.me/Padasalai_12th
https://t.me/Padasalai_11th
https://t.me/Padasalai_10th
https://t.me/Padasalai_9th
https://t.me/Padasalai_6to8
https://t.me/Padasalai_1to5
https://t.me/Padasalai_TET
https://t.me/Padasalai_PGTRB
https://t.me/Padasalai_TNPSC
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QUM S600f1&I0D efleml & Q&HMESLIL
&6o0T15 L0 HMHMeV m&CW (H GLoeuflemev-11 o4 6voT(H (SLALD euLsl)
(NS6TENLN Heval eIV (H([HEUETESHT LOMEIL L D) 3{6UT&H6T eUBl& ML (H&6d6r SLd
SWMflésliulLgl.
QBOIWITEHS: amus.R. THIRUVALARSELVI
(NG eTemLn SHevedll 3| svieu6uIy
&) (Ip6U6ITeEH T LOMeUL L LD.

69 (IH Ml B3 60) 60T LI LI TEIT [J &5 61T : @Q‘b B. RAVI
DEO (I/C)
QumetTGeorfl Heval LDMeUL L LD
&

& . P. THIRUMALAI
DI

QumesTGeor] sevad LDMeUL L LD
2wy Gw:

Mr. K. AGATHIYAN PG ASST

J.S GHSS, PAZHAVERKADU
Mrs. S. LALITHA PG ASST Mrs. RMALARVIZHI, PG ASST,

GBHSS,SHOLAVARAM JGGGHSS, PONNERI

Mrs. G.LAKSHMIKALA,PG Mrs.A.GEETHA, PG ASST,
ASST DVSRHSS, MINJUR
JGGGHSS,PONNERI
Mrs. V.SANKARI PG ASST, Mr.D.SATHISH, PG ASST,
JGGHSS,MANALI NEW TOWN | GHSS, ELAVUR

Mr. M.LOGANATHAN, PG Mrs.J.SRIDEVI, PG ASST
ASST,GHSS ARAMBAKKAM GHSS, ALAMATHI

Mr. N.VAJJIRAM, PG ASST, Mrs.R.SRIDEVI, PG ASST
GBHSS, PONNERI GHSS, KAVARIPETTAI

Mr. S.SIVARAJ, PG ASST, Mrs.PUSHPA SHOBANA JOY,
MKVGBHSS, ARANI PG ASST, KLKGBHSS,
GUMMIDIPOONDI
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1. gwfllsar whHmId
IjewflECamameussafler LweTurGHaar

|. @rewi(h LdiGLewer

-1 2 2
1lfadf A= |1 1 z] , erfled A
2 21
;& SIT6UTS:
Sitey:
-1 2 2
Adj(A) = [1 1 2]
2 21
1 _ 1 .
A=t 2
-1 2 2
Therefore |ade|}:1 1 2
2 21
= -1[1-4] -2[1-4]+2[2-2]
= -1[-3] -2[-3] +2[0]
=3+6 =9
L =1 2.2
Al= #2111 2
2 2 1
L -1 2 2
= i; 1 1 2]
2 2 1
_[8 -4 .
B R
A(adjA) = (adj A)A =|A| | 2
Sirey:

a=1% T adiasl
=|A| = 24-20 =44 0
31l ol

_[ 24—-20 32 — 32
—-15+15 -20+24

Aadj A) = [_85
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=[4 0
0 4

1 0
Ale=4[ ]
+A(adj A) = (adj A) A= |A| 4
eTeTugl .

3. Ueieumd  gewflsE  omLg
opgmE LwaTUGSS  flSsTo
SITE00T 5.

4‘ R1<_>R3

w

I

o
Ul W Ulk W

[\®)

4 |R;—> (_LRy)
2 |

1 -2 -3 2] R, - R,-2R,

R; - R3-3R,

R; > Ry-2R,

= P(A)=3

4. eteumd Crflug swatur @S
Qar@lemu Griwry ol  smevre
popule girés 2x+5y = -2, x+2y = -3,

direy:
2X+5y = -2, x+2y = -3
3 SI61CE)

AX =B
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x=A"1B
a=t )
adia=2 7]
|Aj=4-5=-1
At =ﬁ adj(A)
=%12 Z1ET 2
X =A"1B
= [_12 _52] [:g
4 -15
[, ]
[y]: [_il]

5 feteumd OCuflug swerumiper

QarElmu Srmoflar aldluy Siss

St2y=122+3y=13

x y= " x y= )

Sirey:

3 2

+2y=12,2+ 3y =13,

Leta:%,3a+2y:12
2a+3y=13

_13 2| & 4 —
A—|2 2j=9-4=5%0

M L. nd
Aa—|13 2| =36-26=10
_INIZ] B o -
ay=|; 13|_39 24 =15
a:E:E:Z
A 5
1 1
X ====
a 2
A 15
y:;y_—:B
1
- () =6.3)
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. ewerm LSIGUewT llermdaei:

7 7 =7
1 adj (A) = |-1 11 7]6r6uﬂsi)A-
\ . 11 5 2z
0 SHTCUUTS.
direy:
7 7 =7
adj (A)=[-1 11 7 ]
11 5 7
7 7 =7
ladj (A)| ={-1 11 7 ]
11 5 7

= 7(77 -35) -7 (-7 -77) -7(-5 -121)
=7 (42) -7 (-84) -7(-126)

=294 + 588 + 882 = 1764

A= im adj (adj (A))

1
— V176
+(77 =35) —7(=7 =77) (=5 —121)
—(49+35) +(49+77) —(35-77)
+(49+77) —-(49-7)  +(77+7)

-+

B

T

. 42 84 -—126
= iz -84 126 42 |~T
126 —42 84
1 -2 3
A=+12 3 -1
3 1 2
L -8 1 4
2.A=5|-4 4 7| ewfled 471 =
1 -8 4
AT eteur flmieys.
direy:
L -8 1 4
A= 5 —4 4 7
1 -8 4
. -8 1 4
AT=-[1 4 -8
4 7 4
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4 2 1 2 1

8 1 4,841 1.2-5-2-1=0, ~+-+--2=
AAT =-4 4 7|51 4 -8 y =z xy oz
1 -8 4 4 7 4 0,
= 2 5 4 o
64+1+16 —32+4+28 —8—8+16 ;5 zt1=0 dlymof  aflglemw
—|-32+4+28 16+16+49 4—32+28 LWETLQSE Siés.
—8-8+4+16 4-32+28 1+64+16
) [81 0 ol Sita;
=0 81 O
“lo o 81 leti=q,~=b-=c
x y z
1 0 O
:[0 1 0] = 3a-4b-2c =1
0 01 a+2b+c =2
AAT=| 60l
@gﬁ] Ghal 2a-5b-4c=-1
e A—1—pT
<A O 3 —4 -2
0 5 A=l1 2 1
3). A= [_ 1 6] st LS whHns 2 -5 —4
Caremey  gemflsE — smerd-GaymiL et = 3[-8+5] +4[-4-2] -2[-5-4]
b&&60 (Lpemm eLpeuld GEITLOMDI Smevtrs _ 3(.3] +4[.6] -2L.9]
girey: = -9-24+18
- [0 5 =-15#0
" [_1 6]
1 -4 -2
aF 0 5[1 0 Aa  =|2 2 1
I -1 610 1 -1 -5 -4
.. -1 6|10 = 1[-8+5] +[-8+1] -2[-10+2]
Ry < —>R, [0 2 ‘ 0.\
=-3-28+16
1 -6 |0 0—-1
R=>-hi~[y ¢ ‘ 10| =15
R, [1 —6 0 -1 3 1 =2
R =355 ~ [o 1 ‘1/5 0] Ab  =|1 2 1
2 -1 -4
R—>R+6R~10‘6/5 e = 3[-8+1] -1[-4-2] -2[-1-4
1 1 2710 1 |1/5 0 = 3[-8+1] -1[-4-2] -2[-1-4]
s, = -21+6+10
At =3 =5
20
> 3 -4 1
Ac =11 2 2
:1[6 _1] 2 -5 -1
511 0

ll. gl wHIQUewT elswrmdaser.

= 3[-2+10] +4[-1-4] +1[-5-4]

=24-20-9
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=5
Aa -15

a Se— e— 1
A -15
Ab -5 1

hb=—= — = -
A -15 3
Ac -5 1

C=—= — = -—
A —-15 3

=>x=1,y=3,2=3

2. UOereumd Crpflwg Fwetur’ GiS
Qar@GLliemu SreedleT BaHs0 WanmLiy
Fiids  4x+3y+6z=25,  x+y+7z=13,
2x+9y+z=1.

Sirey:

4 6

3 x1 [25
1 5 7 [y =113
2 9 11tz 1

3 6][25
5 7|13
9 1l1L1
13

1 5 7
Ri—-R|[4 3 6 25
2 9 1 1

A=

4
[A/B] = [1
2

R-R-4R
Ri-R3-2R
1 5 7 13
0 —-17 =22 - 27
0 -1 -13 — 25
R2—> R2 — ('1)
R3- R3 - (-1)
1 5 7 13
0 17 22 27
0 1 13 25
R 17TR: - R

1 5 7 13
0 17 22 27
0 0 199 398
X+5y+7z = 13— O

www.TrbTnpsc.com

17y+22z =27 (2)
199z = 398> (3)
Z =398/199 =2

Q) => 17y+22(2) = 27

= 17y =27 -44
= =-17
= y=-1

D=> x=5(-1)+7(2) =13

x-5+14 =13
x+9 =13
x =13-9
=4
Therefore the solution is x=4, =-1,
z=2.

4 4 43

3) Lu -@ar enbwdliing x+2y+z = 7,
X+y+ Az=pu x+3y-5z = Sereum &FLoeurUT(HiS6T
) wr@sT@m gtep Gupd@sEL i)
sremTswildmawnn diasamert Gummlmd@L
STEUTLIG6MEUT Q) TTUIE.

Sirey:

wrilsefler srewtenflsme = 3

X+2y+z = 7 X+y+1z=pu x+3y-52 = 5

X 7
1

z 5
1 2 1

1 1 A
1 3 -5

1 2 1
1 1 2
1 3 -5

7

u
5

[A/ Bl =

Rz - Rz- R]_
R—-Rs-R;

1 2 1
1 1 A2-1

7
u—=17 ]
1 3 =5

5

R—R>-R3
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1 2 1 7 R2—>R2-R1
[1 1 A—1 |u—-7 ]
1 3 2-71pu—-9
) . R3—>R3kR1
Hlemev i) A —7 , u — 9 sTevfled 1 2 K 1
P(A) =P(A/B) =2<3. 0 —2k+2 1-k -3 ]
0 —2k+2 1-k* 1-k

6(HRIGEML6| 2 DL LIS,
6T6u0T 60T M SHIWIDM ST 6. R3—Rst+ Ry

Blemev ii) A # 7 ,u # 9 eteufled
P(A) =P(A/B) =3

1 2 k 1
R(HEISMmLE| 2 LG, 6T 6 Siey. [0 —2(1-k) 1-k —3 ]
0 0 2—k—k%* —k-=2
Blemev iii) If 1= 7, # 9 -~
P(A) =2 P(A/B) =3 W
.. P(A}:P(A/B) N
ROGRSDLE JHMF, 6| Gleme. 1 -2 k 1
[o 2(1— k) 1—k _3
4) k- enbwdiysEphEn el 0 0 k—D(k+2) k+2
FLarur(His @sr@Ly _
kx-2y+z = 1, x-2ky+z = -2, x-2y+kz=1 Hlemev (i)
) wrOsre giad Gupdimsl i) 88T _ ) qafie p(a) =2, p(aB) = 2< 3,
@M Simall  Guidl@sEn i)
6T6uuT Ut e SHIIHM SiteyEemenLl R(HBISENL6] 2 60LILIG],
QuPlHESLD eTTLMS Y TTUis. 6TEUTGUBTI SEMSHIIMM SHiT6.
Sitey: Flemev (ii)
wrilsafler erewemnilsemas = 3 k=1,k=+-26afl& p(A)=2,
P(A/B) =3, p(A)# p(A/B)
[k \, 1] N\ @GSO JPNg), Sie) QUDHINTE.
1 -2k 1 l)’l :l—ZI o6V (iii
1 -2 kitz 1 B (i)
Kk 2 1 1 k # -1,k # -2, eteufld
[A4/ Bl=[1 —2k 1 —2] _ _
R, ©Rs R(HEISMme| 2 LG, 6T 6 Siay
QumM) (& @Lb.
1 2 1 1 | . . .
1 =2k 1| =2 ] 5. 4 u -@ear edwdllysEnss
kK 2 1 1 2x+3y+5z = 9, 7x+3y-5z = 8,

2x+3y3+Az = u oM &LeTurBsefler
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Sirey:

X1CsHg+x202 = x3C O3 + xaH20

Qar@lumergl, () wr@sT@m Siad
Qupflrrg (i) 961 oG o
QuidlmE@d (i)  eremremilsmawnm
gireysemerl Guidl @D  sTeTUGemeT

0
0
0

SITITLIEOT:
.%lrrru]as.
5X1 = X3
gitey; 5x1 - x3=0
wrflsafler eTenTentéoma = 3 3oL M 60T
2 3 571 [9 B = 24
7 3 -5 M=8 Ax1 = xa
2 3 allz I 4x1-x4=0
S, S6r0lgeur:
2 3 5 9
[A/B] = [7 3 =5 8] 2X2 = 2X3+X4
2 3 2 K 2x2 — 2% x4 = 0
FLoeoTUIT(H&6T:
R— 2R - 7R
Rs- Rs - Ru 5x1 - x3 =0
z2 3 5 9 4x1- x4=0
0 —-15 —45 —47 2% — 2% —xa = 0
0 0 2a-5 u—9
s (i) alflu@SsiuL L o6l
A =5, u # 9eefled p(A) =2, p(A/B) =3,
P(A)=p(A,B) - M E
[AO]=[4 0 0 —1]o0
R(HEISMLE] MM, Sie| @smev. 0 2 -2 -1 |0
Blevev (ii) 4 0 0 —1] 0]
Ri<>R2|5 0 -1 0| O
A # 5, u # 9ematled p(A) = p(A/B) =3 0 2 -2 -1 ol
R(HESMLe| 2 mLwg)l, 6T 6@ Sie] 4 0 0 1| o
Re<>R3l0 2 -2 -1 0
Hlemev (i) 5 0 -1 o| ol
A =5, u = 9erefled 40 0 _q
p(A) = p(A/B) =2<3 Rs—>4Rs-5Ril0 2 -2 -1
. 0 0 -4 5
6(HBISHENLI6] 2 6MLIG,
oot mesty e, wrilaefler stenienfldma= 4
6. &reverdluet FHSed  (PEmMEHLLIL] P(A) =P(A/0)=3 <4
LWETUSS) vt (LD Cougihwish ~ o@RsmLe 2-6L-Wg),
it eNemenré e ——— 6Tu0T 60T SHemSHWIDM SiTe
guflmaubsgs. 4x1- x4 =0 - @
2xe-26-x=0 — )
CsHs+O2 — CO2+H20 -4x3 +5x = 0 ENE)
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X2=1
(3 =>-4x3+5t =0

x3=-5t/-4
=5t/ 4
> 2e-28)—t=0

2% -Z—t=0
2

2% _5t;2t -0
2%-2=0
2
2e="1
2
X2="1
4
@=>
4x1-t=0
4x1=t
X1= t/4
t =4,6T60T& X1,X2,X3,X4()(LD 6T6UOT 61
X1= Xp =% X3 == Xq =1t
X1=1 Xo =7 X3 =b X =4

GCaemeuwimeor  FLoeoTUIT(h)
GHs+702 — 5CQ+4H20
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2. S6ULIL| 6T6UITSH6IT
@rewi(® wHlGuewT ellewrmd e

1) &S ESS.

i 1948_i 1869

aire :
1948-4 =487 18694 = 467
= (i)"487.(j)" @467 +D)
= (i4)487_(i)— 4*467 -1

487 .- 4*467 (i)—l

2 M- 467 1
=1-() .=
PR
_1'1'*1'
-1 4
_1._1
Ans = 1+i

2) Z = 2+3ietew Qamewi(®) SLpssTEmILDd
saLICLGTTEmeT 9| THETL Smgdle Ghlss

M z,iz wHyw z+iz
girey :
iz = i(2 +3i)
= 2i + 3f
=2i+3(-1)
=21i-3

iz=-3+2i

www.TrbTnpsc.com

Z+iz = 2+3i-3+2i

Z+iz = -1+5i

3)ifz1=1-3i,2=-4i,5=5 eafle®
SLpSsmeuLemeuSmeT [Finia|s.

N( 21+ 2) + =2+ (2 + )
i) (z2122) 3z =2z (222)
Firey :
L.H.S
(a+2z)+z=1-3i-4i
=1-7i

(21+Zz)+23:1-7i+5

6 —7i
R.H.S
zt (z+z)
2+7=-4i+5
=5-4 i

Z1+ (2 + z3) =1- 3i+5- 4i
&—7i
L.H.S = R.H.Sflpeui’Lg.
i) (2122) 3 =z (2229

L.H.S

(2120) z3

212, =(1-3i)(- 4i)
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=-4i-12
=412 -4i
(z122) z3=(-12-4i) 5
=-60 -20i
=-20(3 +1)
=LH.S
R.H.S
21 (22 23)
(z225) =-4i*5
=20i
71 (22 23) = (1-3i)(-20 i)
=-20i+ 60|
= -20i-60
= -60-20i
=20(3+1i)
=R.H.S
LHS=R.H.S
Hence verified

A)If z;=3+4i, 2= 5-12i ,3= 6+8i

wd@s |z.|,| z|,| z| | z+2

|| - 7]

| 2+ 2|

Sifley :

i) z=3+4i

|z =/®)2+ @2
9716
=V25

|21] =5

www.TrbTnpsc.com

i) Z,=5-12 ]

| | = J(5)"2 + (-12)*2
=/25 + 144
=169

| | =13

iii) z3= 6+8i

=/ (6)"2 + (8)"2
=36 + 64
=100

| 3| =10

| 5

V) | 21+ 2 | = | (3+40) +(5 -12i)|
o 3+4i +5 -12j|
¥8 - 8i

| 2+ 2| =82+ (-8)"2
¥64 + 64
V128
| 2+ 2 |=8V2
V) | z-z|=]|(5-12i) - (6+8i )
15 -12i — 6+8i
d-1 —20i
=/—12 — 20/2
=V—12 =202
= V1+ 400
=401

Vi) | z+ 25| = | 3+4i + 6 +8i|
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3 (9 + 12i)|
=/92 + 122
=/81 + 144
225

| z+ 2| =15

5) seliCuewEafleT Gimeu cuipallenere
SIT6U0T&.

i) 2 +i2V3
gire :
Z=X+1ly
PCHPEN
aféa arg = taft (2)
x=2,y=ﬂ§
2] = AFI0)
Ny
3/16
YL@ : |z|=4
ai&a :
a=tan1(§)
243
2

= tart | (

)|
o = tan'(v3)
arg: a =n/3
o =n/3
O =n/3
20O =a

Sime aUigaLd:

www.TrbTnpsc.com

Z = r(co® + isinB)
=4[ cosu/3 + isinn/3]

2 +i2/3 =4 [ cos(n/3 + 2k= )+ isin
(n/3+2k )] Kez

eypeim LdIQuenT elleormeaet

1)(3-i)x—(2—i)y+2i+5and 2x + (-
1+2i0)y+ 3+ 2igydlu saliGLemser
&Lold ereufled X Lommitd Y euf
LS ISmTS SHTewTs.
girey :
(3-hx—(2-i)y+2i+5=

2Xx+ (-1+2i)y+ 32+

(Bx -2y +5) +i(-x+y +2) =
(2x -y +3) +i(2y +2)

Gt &lLBHISSID
3AX—-2y+5=2x -y +3
3X-2X -2y +y+5-3=0

X-y+2=0

-2y = -2
y=1

subt y =1 in equation —»@)

X=-2+1
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X =-1
t(xy)=(-1,1)
2) W3+i) oyt @ et o Sy
s (peg sTowt WSiySEHEES 1)@
B\mHGLD.
gire :
W3 +i)"
n=2
W3+0)°=[V3] “+ 23i+7
[: [a+bi=a’ + 2ab+IF]
=3+¥3i -1
=2+31i
= 2+iV3)
Taken =3
W3+0)° = (3+0)° (3+1)
=2(1+/3)[V3+i]
{Subt (V3 +1)° = 2[1 + 3]
=293 +i +i3 + (W/3)i)?

=2{/3 + 4i - V3]
=2[4i]
=8i
n=3
W3 +10)° =8i

Wofleid SmLsmeor
n=3

[ 63+0)° 1= 181°

www.TrbTnpsc.com

&3 +0)°=64
= -64 (Oloul)
n=6 i) n=6 Gl
i) n= Jyhdenb sHumer.

3) If | 1| = 3etafled 7< | z + 6 -8i| <13
sTeords Lewrig | |z |- | z2| | <
|z+22| < | 21| +| 22|

Firey :
| |z]-|2| |< |ztz|< |2]+] 2|

Z=06 -8i

|z2| =v36 +36 =100 =10

| 2l-1z] < |2+ < 2] | 2]

|3-10| < |z +6-8i] < 3+10
7<|z+6-8i| <13

4) Sevr eugmLd FweruT@Sefler z = x-+iy
T Flwliurengamw Sriedluid augalled
&HIT6UT&.

i) |z-4] =16
gire) :
Z=X+1ly
|z-4| =16
| x+iy |=16
| x+iy-4|=16
| x-4+iy|=16
V@ —4)2+/y2 =16

mirssILESSID (@mUDLD)

(x-4Y +y=16
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(x-4 Y +y* =256
¥-8x+16 +Y-256 = 0
X+y?-8x -240 = 0
) |z-4|% |z-1|*=16
put:z=x+iy
| z-4|% |z-1]|%*=16
| x+iy-4|% | x+iy-1|*=16
| x-4+iy|* | x-1+iy|?=16
WG =47 +y2 %=
Yo -1)% +/y? 1%=16
[(x-4F + ] - [(x-1)*+ y*] =
X-8X +16+y- [x%-2x +1+y ] =16

-8x+16+2x-1 = 16

-6x -1 +16 = 16
-6x-1=0
6Xx +1=0

[ 1+sino+i cos J 10- eor Lniluu

1+sm— —icos

SIT6U0T S

Soln:
Z = sin= +i cos—=
10 10

. s
1 1 SIDE—ICOSE

- .. T . . A
z Sin— +1 COS o sm— 1CO0S —
10 10 10 10

Slnﬁ —1icos E

sm— +icos—
10

www.TrbTnpsc.com

[Sirfo +cog 6]
1 .m . T
== sin=-icos—
z 10 10

(1—+f)10= %)10

_(1)10_ 10
z
10 LT T 1
=z = Sin— +i cos—
10 10

[Demorire’s theoren]

[:. (co8+isind) = cosn@+isin @ |

=2%=[cos C——) +isin (5 -

o

am . . 4
= [cos = + isin—]*°
10 10

= [coS2E % 10 + isin * 10 2Z]%°
10 10
=[cos 4 + i sin4]
=[cosn + i sim]*

=[1+iO)F
=[1'=1

[ 142 ] 10
1]+
kgl LHNGUeTSET allerme e

1) If z1, o z36T60TM eLpEUTM)]
solGuemseT | 7| =1, | z|=2,

| z3|=3 | z+ 2+ z| =1 erevrpeum)
o eireng) eofled |9 21 z+ 4z 75+ 2
23| =6 eter Blmieys.

Soln:
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| z1|=1, | z|=2,]| |=3 [ (2x+1D)+i(2y)
- i—y+ix

| z|*=1 | 2[*=4.| z[*=9
(2x+1)+1(2y)] [(L y)— Lx] _

Zz-1 22=4 37%-9 Im- i—y+ix (i-y)—ix
=X =2 -2
1= 2720 L= z3 Im [—x(2x+1)+(2y)(1-y) =0

- (i—-y)"2+x"2

[ Take only imaginary parts]

= +=+=|=1
zl z2  z3 2 —xQ2x+ 1)+ Qy)(1—-y)=0
| 72723+47123+92172 =1 = —2X%+X +2y — 2y¥=0
717223 & 2X2+2y%+ X — 2y=0
{B ropert |—| —|“|
y property [ 22| 3) /3 +l euT 6T6GUIT ELPEBTMTLD Lilg
PLPGUBISEMEITUILD S5IT 6007 &.
| 2123+42123+92172| _
| al|zz| 3] Soln:
- = 3 . ..
A+22 2’ =3 +i = r(co® + isine)
{ By property | 22| }
2
| 21| = | 21| r=J(/3) +12 =V3+1 =V =2
| 2123+42123+92122| _ r=2
| z1[ | z2| | 23]
= tari* (2)
| 2123 + 42123 + 92122 | =| 21| | z2| | 23|
\ 1
LI @ =tari” ()
| 92122 + 42123 + 2123 |=6 ="
6
2) If z=x+ iy ereurm 6TOSHEILD (T, A
S6uLIQILIGuTT Im(zz+1 ) sTegiomm) a=e=%
SIMLOBSTED - 6or ,r_E,]u.lmuurrsmg, 2= 2[cost/6 +isinn/6] [..r=2
25 +2yP+x-2y=06160r& ST ([H\&.
e=m/6]
Saln:
z = 2*[ cosn/6 + isinn/6] 3
m[Z(x+iy)+1] _
i(x=iy)+1 Adding 2kt
Im[2x+2iy+1] -0 z = 2®[ cos(2ke+ n/6)+ isin(2ke+ /6] M3
ix—y+1

Apply Demovire’s theorem
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(2kmt+ 1t/6)

z= 2”3[cos(T)
rsin( 2oy | =012
If K=0
z = 2?[ cosn/18 + isinn/18]
fK=1
z = [ cos 13/18 + isin 13/18]
fK=2
z = 2?[ cos 25/18 + isin 25/18]
— 43 7T e 7T
z= [ cosfr += ) isin(m + ) ]
z= 2P[-cosZ - isinZZ ]
18 18

4) 2cos =x +% , 2co$ =y +§ 6T60T &

Qareni(® SLpssTamTLmaisemen Hlnie|s.

i)§+§=2cosa-s)
i) xy+% = 2isin @+ B)
ii) ’;—':—i—:l: 2i sin (mu-np)

1

iv) xmyn +xmyn =2cos(m+np)
soln:
1
2co8 = x + -
24
2cog = =

(2cos) x=x%+ 1
x> (2cos)x +1=0

[ ;. aé+bx+c = 0]

www.TrbTnpsc.com

a=1,b=-2cas,c=1

—b +Vb? — 4ac
x =
2a

[ quadratic equation ]

_ 2cosa +/4cos "2 a—4(1)(1)
- 2(1)

X

_ 2cosat2,/—(1-cos2a)
B 2

2 cosa 2 /1(1—c0320()

2

_2cosa +2isina
B 2

2[ cosa * isinq]
B 2

X = cos + isina  (or)
X = CO® — isina

Let us consider x = cast isina

1 1 % Cosa - isina
x  cosa+isina  cosa — isina
1 _ cosa - isina
x cosa + i*2sin "2a
1 _  cosa-isina [ . i2_ 1]
X cosa + sin *2a
1 ..
= Ccosa — 1sIna
X

= X = Cco$ + isina

1 . .
= — — = cosa — isina
= y = co$P + isinf

1 .
= — =cog - isinf
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N X cosa + isina
j) == csxtEnd

y  cosp + isinp
= cosf -B )+ isin(a — )
~=cos B ) - isin (o — p)
L.H.S
§+% = cosf B ) + isin (a — B) + cosf
-B) - isin (0 — )
§+§ =2cos@ B )
ii) xy = (cos + isina )(cog + isinf )
= cosd+p) + i sin(@+p)
% = cos @+p) + i sin@+p)

L.H.S

xy :% = 2 isin @+p).

L XM (cosa+ isina)™

it yn - (cosB + isinB)™

);—n =cos (mu—nB ) + i sin(me—nB )
i’—m = -cos (nu—nB ) +isin(mx—nB )

=

— +i’—m = 2i sin(ma —np )

<
3

iv) x™y™ = [ cos +isina]™ [cog+isinp]"

www.TrbTnpsc.com

=[ cosna +isinmo] [cosrB+isinnB]

cos(mr+np) + isin(mo+np)—Q@)

RS cos(mu+np) - isin(mo+np)— @)

@+@~»
L.H.S

1

xm yn

xMy"+ =2cos(nu+np)

5) w# 1 eTeuTLg  6peuTdleuT
@liLigLpevLd eLpevld eTeufled
SevTeu(meueTeLMEmM Elmies.

() (1-0+0?)® + (1+t0-0°)°=128
(i) (1+o) (1+0°) (1+o?)
(1+0°)+...+(1+0”™) =1

Sol:

L.H.S.
= (Lo+o)’ +(1+o-0%)°
= (19%0)® +(1+0-0?)°
=(0-0)° +(- 0> ©?)°
= (-20)%+(-20%)°
= (-2 0° + (-2 (0°)°

= (-2f[0+ 0*]
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=2[1+1] = 2(2)
=27 =128 [ :. 2=2%2*2*2%2*2*2]

i) (1+0)(1+0)(1+o*) (1+e®)
(1+0)(1+o®)(1+o*)(1+0')
(1_'_0)256)(1+m512)(1+m10245(1+m204£>

(L+0)(1+0°) (L+o)(1+0°) (1+o)(1+0?). .
6 terms.

L[(1+o)(1+0?)]°

[- 0?¢-0)]°=[- o’ )]°

=[o]°=(1f=1

=R.H.S.
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3. B"LDGU’I'LII'I'ILI.}UJGi) 1. ugeusmeTwIpd CHTGST(HID
2. el GCrrGsm(Gib
|. @rew® LodIGILIewT
1. Parabola §4ax->(1)
1. QasrTHSSIULL eamISneT 6lsmeunTL 2. Stline y=mx+c>(2)

(plLily SETUTEISEET 2 [HETEHES Sub.equation 2 in 1

(mx+cy = 4ax

1) 1,2,3 2)1,1-2 3)2,%,1 m32+2mex+é-4ax=0
Roots 1, 2, 3 mx*+(2mc-4a)x+6=0
a By It is a quadratic equation.
Y1 = o +B+y=1+2+43=6 Which cannot have more than
L = af +By+tya two solutions and hence
= 1(2) +2(3) +3(1) cannot intersect at more than
= 2+6+3=11 two points.
I3 =a B y=12)3)=6
The required equation
- X2 +T,x—33 =0 V. SLpSTeILD ELOGUT SHLITL I 60T
x3-6X +11x -6 =0 GopBguLs  Cuuwmhm - epeEiseT,

gdleu’s loms, GGop epomseilds

6TGUUTGUOTI 60 SHIT6UNT 5.
. Sipsei_eubemm  ELCBISETTS

QaEmewi.  GOOBSULE  LiguL e 1. 9+2x°-x*-7x*+2=0
ubQELE CETemeas  SLeTUTL enL 2. X>-19xX+2x+5x+11=0
alflswm erenr CsaEsTs @HmaEL 3. X+OX+7x°+5x°+3x=0
Ll &ITeUNTS. 4. x*°'%1947X%°%158+26x0+1=0
Ans: 1. P(x)= 9%+ 2x°-x*-7x*+2=
1)2-V3i 2)243  3) 2+\3 S =T QAR ACATIRFET0
4)2i + 3 5)V V2 /N3 6)5- Sign of co-eff. No.of.sing
changes
V3
P(x) + +- - +
1 roots : 2¥3i, 2+/3i 2 (A
¥ L P(x -4
S1= a + B=243i0+ (% V)
2+\/f| ( Change the sign of odd power
< N RN only)
Y2 = 0 =30 @130 Max.+ve roots = 2
= 2 - @N3iy ' -
=4+3 =7 Max.-ve roots = 1
The required equation is Total real roots 3
2 —
x> ZiX +22= 0 But total power is 9
X- 4x+7=0 .. . .
Minimum of imaginary roots = 9-
3=6
. @ uerefllsEnsE G o Lmrg V. grés (Hitey @mLnler)
o igies. 1. 2Co$x - 9Cos x+4=0
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2. Sirx-5Sin x+4=0
3. 2C0$x-9 Cos x+20=0

1. 2Co$x -9 Cosx +4 =0

PutCosx=t 299t+4=0
(t-Y2) (t-4)=0
t=% t=4
Cos x=4
(Impossible)

= 15
Cosx =%
Cos x = Cost/3

X = 2nw +n/3

State and prove Complex conjucate root
theorem

(Theorem 3.2 in book)

Find the sum of squares of the
roots of the following:
1. ax* +bx3+cxé+dx+e = 0
2. 2x-8x%+6x>-3=0
(1) a*+bx’+cx+dx+e = 0
Let the roots o, B, v, o
Sum of the squares of roots
O +BZ+y +37= (04 p+y+5) -
2(optoytad+Potpy+py+pd+yd)
o +BEH = (21)° - 2 €2)
= (-b/af — 2 (c/a)

=i -2¢
& a
=  B-2ac
a
1. s

x3-3x°-33x+35 = 0
2x3-9%°+10x =3
8x-2x%-7x+3 =0
2x3+11%-9x-18=0
x3-5x%-4x+20=0
25C+3x%+2x+3=0
x*-9%°+20=0
x*-14x2+45=0

N~ WNE

www.TrbTnpsc.com

Note:

* |If sum of the co-eff.is Zero 1 is the
root

*Co-eff. odd power=co-eff.
power -1 is a root

Even

*If x4, x? are the only co-eff. sub?xt

1) x>-3x%-33x+35=0
Sum of co-eff; 1-3-33+35=0

1]1 -3 Wag’ 35
0 1 -2 -35
1 -2 35 0

Remaining factor: %2x-35=0
(x-7) (x+5) =0
35 X=7,-5

AR
7 35

.. roots are: 1,7,-5

[l If as B (Or)a,B y are the root
of the equation whose roots
are given against them.
Equation 1. $+2x°+3x+4=0

2.5+ 2%%+3x+4=0 New roots:
3. X+2X%%+3x+4=0 e, -
B, -y
4. 17%+43x-73=0 2,
2B, 2y
5. 2%-7x+13=0 14,
18, 1k
o+2,
p+2
0.2,
BZ
1) x*+2)%+3x+4=0
Given roots New roots
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atpty=-2 Zi- -a—P -

Y

= - @ P
+y)

=- (-2) =2
of+py+tyd =3 L=aptp

Y+ v0

=3
afy=-4 = (o) (-
B @) ke

The required equation
X3- Z]_X2+ YoX —23=0
X3-2x2+3x-4 =0

V. Obtain the condition:

1. The root of X+px?+gx+r = 0 are
in A.P

2. The roots of akbx+cx+d=0 are
in G.P

3. The roots of %+px*+gx+r=0 are in
H.P

4. Solve:9%-36X°+44x-16=0  roots
are in A.P

5. Solve 3X-26xX(+52x-24=0 roots
are in G.P

Note: In A.P, take the roots as-d, a,
o+d

In G.P take the roots a¢t , a, ot

In H.P reverse the co-efficient of
given equation and use A.P. roots

3. X>+pxX’+gx+r=0 here the roots are
in H.P Reverse the co-efficient
nC+opé+px+1=0 its roots are in
A.P
roots aren-d, a , o+d sum of roots
a-d +oa+o+td =-q/r
3a=-qlr

o= 3—j

www.TrbTnpsc.com

(5m) + o) +p(57) + 10
3

_ 3
L+q__m+1:0
27r%2  9r2 3r

Multiply by 277
-o° + 39— 9pgr + 274 =0
2¢¢ + 27¢ = 9pqr

1). 2¥ — 6x + 7 =08@ Gl ey
@\svemev 6T6UTS SITL (b

2). X2+ 2(k+2) x + 9k = 055 eLpevmIgair
&uib eteofled k = ?

3). 2X + kx + k = Oer epeumisefleor
@uwsdemu K euflwirs gy ymiis.

4) 4% + 4px + p + 2 = Ostr eLpevrsigseflour
@wedemu P aufl oprmiis

5). » -2px +£2—q2+2qr—r2=0
CLPGUMIGGIT S(LPpDI STEUITSHGIT 6T6UT S5
sTLG(- P,Q,Relllapm sremiaer)

Rationals
(G

> b? - 4ac = GyemseT Gl FLolb

> If b? - 4ac > QueEiseT
GleueIGaummeuTEm6L.

= If b? - 4ac< GueEIEeT SHLemeoT

6T6U0T S561T

1).2¢-6x+7=0

b®— 4ac = 36 — 4(2) (7)

=36-56=-20<0

Subinr+gé+px+1=0
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= PPGUBISET SHMLIENEIT 6T600T 60T a+p=3

62IT 6TEUUTEM6TOT | SH60T SH6uTeLIVSCHT (D eLp.Glu

S L lguTTed 6 HlemL&&Img) sTeufled
(2 +0)(2-1)(3-/2) (3 +/2)ap = -

@0 SFLETUTLTSES.

140
X +x§ =6
(4+1) (9 — 2)op = -140
x5 =6-x=> Y = (6 xf 350 = -140
X =216 — 3(B)x + 3(6) (¥) — X o = 240
35
X =216 -108 x + 18% X
afy = -4

X3 —18¥ + 109x — 216 = 0 ) ) i )
Qupsdlemmed -4, gnLilgeurmed 3

5 Marks ST&8nlglll @\, eTemisar -1, 4
1). 1f 2 +1i, 3+/2 gy lwemeu 1 PLPGUIBIS 6T
x® — 13X + 62 — 126X + 65% + (2+i)(2-) 3+42) (3+/2)-1,4

127x -140 = Ot epevriigser eraufled

& :
SIMETSHGILD CLICUBISENETILD SHNT60TS.
1). (x-2) (x-7) (x-3) (x+2)+19=0
x°-13% + 62X — 126X + 65¥ + 127x
~140=0 2). (2x -3) (6x -1) (3x — 2) ( x-2) -7=0

.. 3). (x-5) (X-7) (x+6) (x+4) =504
ELPEVBIH6IT ;

4). (2x-1) (x+3) (x-2) (2x+3) +20 =0
24021 3vI 3V ) (2%-1) (x+3) (x-2) (2x+3) +

5). (x-4) (x-7) (x-2) (x+1) =16
eLp.Sn_

1). (x-2) (x-7) (x-3) (x+2) +19=0
2+2+3+34+p=13
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Re arrange them

[(x-2) (x-3)] [(x-7) (x+2)] +19 =0

[Xx?—5x + 6] [¥—5x—14] +19=0

X% - 5x =t

(t+6) (t-14) + 19 = 0

£-8t-84+19=0

£—8t—-65=0

(t-13) (t+5) = 0

t=13, -5

x?—5x =13 % — 5x
x? - 5x — 13 =0 % 5x +5
=0

y= S EV25-4(13)

2(1)

X_Si \25-4(1)(5)

2(1)

_ 5+V25+52 5+/25-20

2

_ 5+V77 _5+V5
T2 2
> The root are The root are
5477 5++/5

2 ! 2

www.TrbTnpsc.com

3). 6X' — 5% — 38X — 5x + 6 =0 & QB
girey 1/3 erarfled Sirse

@8 e Sme S U
1/3 e Sitey e1efled 3 b 6 Sirey.

6 -5 -38 -5 6

[SSE T

0O 2 -1 -13 -6

6
3| 6 -3 -39 -18

0 18 45 18

0

6 15 6
. S (LpeiTem smiyewl: :
6x° +15x +6 =0

36 (x+2) (x 4

>

o 1 -1
ﬁrrsuaamg, 3, -2,?
4) Firés 6x' — 358 + 62X -35x + 6 =0

@8 m Sme S e

Cardlosmze eyl 2 o Sial.
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1.
s also a root

6 -35 62 -35 6

2| 0 12 -46 32 -6

6 -23 16 -3

N | =

g eier sryemfl 6x° — 20X +6 =0

36 (39 (x-3)=0

:: Sireys6T 2,%,%,3
5). X* — 108 + 26X -10x + 1 = (&iré&
+x2 K- 10X+26 = +=—=0
(C+)-10 (x+) +26 =0
X+-=t=>X+=t-2
(t?-2)-10t+26=0

2 f-10t+24=0

(t-6) (t-4) =0

www.TrbTnpsc.com

X+1=6 X+ =4
X X
X2+ 1= 6x %+ 1 = 4x

6+/36—4 4++/16—4
X= X=
2 2
_ 6432 4412
2 2
_6+42 44243
2 2

=3+2V2 =23

6) X®— 3% — 5X' + 22 -39% -39x+ 135
=0 eeomigai (1 + 2i),v/3  erefled Lopm

CLPGUMISEMEIT S &HIT6U0T &.

eyeumigen : (1+ 2i), (1-2i)V/3, V3, a, B

ep.gn : 1+ 1+a +p =3
a+p=1

e1p.@lL:

(1+2i) (1-2i) &/3), (+V3) (af) = 135

(1+4) (-3) of =135

ap =-9
S (paitem esmyeu ;
X>—(@+B)X+ap +0

x>-1x -9 =0
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1+,/1-4 (-9)

2

X =

1+v37
2

X = ::
14437
2

(1+2i), (1-2i),V3, —V3,

7). 2X —6X + 3x + k = Oati (1 eLpeuLd
fhn G\ eposiss & Ggedlar Gl
L EiG eTafled K = ? Sirde.

a, B, y 6T60T&

Aty = B e Ly

a +% =3 @IreuTi 66T & (B\GEOl6TT
@\ LLEIE.

a="7 a=2@+)

o=2 S =B+

aprPrrya=| 1Py

o (B+y) +Py =2 apy =—
21)-5=2 | 26y ="
3_k I ™
23 % Pr==>
1_k
T4
K=2
M=%=§
(peer smyeut:

X?_ eyt Py =0
X2_1x-—==0

2
2% —2x-1=0

X=2+J4—42)(-1) / 2(2)

www.TrbTnpsc.com

_+2+V12 - X_+2¢2\/§
1+V3
X 2
o o 1++3
CLPGUMBISHET: 2, 223

2

Solve : 3% — 16X + 23x — 6 =0

ar @@ epomiseflar GumEase 1 ererflsd
DT &.
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4. Grimomrm (psCamevoraliied
FLoaTUT(HS6T
|.Two mark questions and answers
1.find the value of sin (sin(5t/6))
sint (sin(5t/6))= sin® (sin@- 7 /6))
=sin* (sinz/ 6)
/6 ..ml 6.€-1 /2,7 /2]

2. find the value of

sin® (sin(5m /9 cosm /9 +cos 5t /9 sinm /9

sol : siit sin((5t /9+ @ /9))
= sin* (sin 6w /9)
=sin' (sin 27 /13)
=sin® (sin(m - 7 /13))
= sin® (sint /3)
=1 /3
3. Find the value of cd$1/2) +sin™ (-1)

Sol: cos§(1/2) +sin (-1) =n /3 =1 /2

_2n-3m
6

=-1 /6

4. Find the value of set( -zgﬁ)

Sol:let, sec! ( -23£) =0
_—2
Sech = "y

0 €0,7]\{m/2}
we have,

cosO = -/3/2 or sed = - 2K/3

www.TrbTnpsc.com

then, cos 5t /6 = +/3/2
now,0=5m /6
sect (- 2V3/3) =5n /6

5.Prove that tah—+ tan™ —=tan™
11 24

N |-

2 + 7
- 1 AT,
tan 11Z 247
1-(3)GP
48+77
-1 264
tan 264—-14
264

= tan * (125/250)

=tan* (1/2)

tan * (2/11) + tan® (7/24) = tan* (1/2)
Hence the proved.

. THREE MARK QUESTIONS AND
ANSWERS.

1. Find the domain of sif{ 2 - 3xX)
Sol : Range of sih(x) is [-1,1]

-1<2-3¥¢ < 1
Add -2- -3<3x°<-1
-3<-3xthen X < 1 (1)
-3x* <-1then %> 1/3 2)
From equations (1) and (2 )we
have get,

113<x* <1

Then 143 < Ix1 <1

Since& Ix1I <,
implies x €[-b,-a] U[a,b]
combining the equations (1) and
(2)
X € [-1,-1A3] U [1~3,1]

2. Find the domain of f(x) =sik-"*
Sol : range of 8i* x is [-1,1]

x%+1

2x
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T
1 X+ty+z—-xyz ] X
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Multiply by 2x 1) If a;, &... & is an arithmetic
22X < X2 +1< 2x | R —2x +1< progression with common
0 difference d prove that,
0< x° +1 + 2x x-f<0 tan [tanl( o)+ tari
OS(X+1)2 x-1< 0 (1+52a3)+..................+tar'1
da anp—al
0< x+1 w=1 (1+anan_1) _(1+a1a2)
N Proof:-
_— tan‘l(ﬁ) = taﬁl(%)
solution is {-1,1}
. Find the domain of f(x)=sift x + tahag-an " @ .,
cos’ x 1
Sol : range of sift (x) is [-1,1]
Range of cd's(x) is [-1,1] i ly,
Then-1<x<1
X €[-1,1] () = ()
. Find the domain tah(vV9 — x2)
Soln: tait ag-tar’ & ...
9-¥>0 52
9 >x° | B
<9 Continuing:-
x <+3 tan (1+anan ) =
domain[-3,3] tarf(-2ndn=1
. tan?x + tanly + tan? z show that I¥an-san
X+y+Z =XyZ tan’ a- tan" an.1....
proof: tan?x + tanty+ tan z = 53

Adding equations 1, 2 and 3 We

tan” [ T
1-xy—-yz—zx get
~tant =0
x+y+z-xyz _
Ly —yrzx N [ tan ( )+tan
d _
+ +
xytz=xyz  _ o (1+a2a3) R L= 10
1-xy—-yz—zx ( d
1+anan—q
— 1 <1 -1 -1
X+y+z-xyz =0 =tan & -tan” ay+tan ag—-tan
ot + tan'a, taAtans

X +y+z = Xyz
Hence the proved.

= tan'a, -tari‘a

Then,

. FIVE MARK QUESTIONS AND
ANSWER .
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-1 d d
tan (—1+a2a3)+ ....... +(—1+anan_1))
= tan [taft &, -tar* a]
= tan [ta——")
1+an—a1
_ ,ap—al
- (1+a1az)
Hence the proved.
2.slovetan~1(22) +
xX—2
—1extly
tan (x—z) =
I1/4
-1 x—-1 +1 x—1, , x+1
tan' () + () -G
)=I1/4
X2+X—2X—2+X2—-X+2X-2
- TR = tan(1/4)
X2—4
2x%-4
=1
-3
2 -4=-3
2x¢ =1
X% =1/2
X=+ 12
- - x :
3. slove : cos (sﬁ—m)
Sin{cot™! 3/4}
. =1 X —
Sol: we knowsin e
-1 1
OS. Te
-1 X _ 1 1
coskin 7 —COS €os Neree
=1 L oc
e L
Let uscot™13/4 =0
cot0=3/4

0 is active angle then
sin {cot™1(3/4)} = 4/5 ------ 2
From equation land 2 equal

1
T A0

5. slove :2an"1x = cos'

=2 tan!

www.TrbTnpsc.com

V1+ x?=5/4

1+x% =25/16

x?=25/16 -1

x? =25-16 /16

=9/16

X=t1 %

2) 4. Prove that , tahx+ tari'y+
tar'z = tanf[2 22
1-Xy—yzZ—zX
Proof:-
tan’x+ tar'y+ tan'z =

taR—Y+ tari
1-xy

X+y
+z
= tan [y

mesian

X+y+z—Xyz
| <1 1—xy
=tan .tj:gzﬁtajl

( 1—xy

_ X+Y+Z—XYZ
:tanl.[ ]

(1-XY-YZ—Zx)

Hence the proved

1-a
1+a2

_11—-b?
co5——,a>0,b>0
1+b?

Sol:

1-x?

2 tan" x =cos 1. =
1+x

2tantx =2tanta-2tant b

=2[tan’ a - tart' b]

a-b
1+ab

)

a-b
1+ab
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5. @muflmer LG
culgallwed - |1
2 MARKS :

1. (2,-1) ereim yeireflemw emiowiomSHeayLd,
(3,6) steoim yerefl  euLfl&FQasdeugomenr
o L Gdleur gerTumr(h SreutTa

irey:

soowid : (h,k) = (2,-1)
oL Gdlewt eoeuoTum(h)
(x-h)* + (y-k)’=r*
— (x-2P+ (y +1f =1
@& (3,6) steorm Yerrerfl sufl&Glesheugmen
— (3-2F + (6+1F¥ =P
2+]72 =r
1 +4F =r
?=50
D—(x-2)*+ (y+1F = 50

2. (-4,-2)wmmid (1,1) steetm Ysieflsemen
Al Lgdler  pooerwrss  ComewTL
o L dleT QUTgIF eweTur®h STemis.

Firey:

(XLy1) LoHMID (X2,Y>) 6TeTM L6 erflsscmer
Sl L gdlevr (pemerseTTEHe GlsmevmL
QUL L gdleur &LoeoTLim(h)

(X-X1) (X-X2) + (y-y2) (y-y2) =0
(x+4) (x-1) + (y+2) (y-1) =0
X%+ 4x -X -4 +§+2y -y -2 =0
XZ+y?+3x +y -6 =0

@)51Con Caremewimen el L &dleur
gLoeoruim(h).

3. e (-1,-2), YEFSF Y — FEHSHG
Qemerer LMD (3 ,6) auflECSOMID
LITeuEmeTWGSleuT FLoeoTUm(h ST6uers.

irey:
&G Y- 9|E&EE Oleneuor

6TEUTLIGTE) CHemEUIITET LIT6L6mETILIS SleuT
gLoeorum(h)

www.TrbTnpsc.com

(x+1) =4a (x+2)»QD)
@s (3,6)aufls QeceugTed
@— (3+1Y =4a (6+2)
“=4a (8)
16=32a

1
—sa=-=
2

@— (x+1)°=4(3) (v +2)
X+2x+1=2y+4
X+2x-2y-3=0

4. @alwmser ( +3,0) womb e :%
o LW  meteu L Gdler  Fwerur@
SIT6U0T 5.

Firey:

QarhssiulL eleuriy CELL &8 X-
I\F&leT LgeTemg.

x2 Y2
—->—4+= =1 -----
a2+b2 @

C.F:ae:3—>a(iz):3

a==6
*a36
B=d(1- &)
=36(1 -; )

=3¢-) =27 = b’=27

36 27
5. 9¢ -16 Yy = 144 eeamm
I SLTeuen 6w g oot (PEmETT ST,
GONEISET SHTetTs.

Firey:
9x2 —16y2 = 144
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x2 2
X2 _Ye,=(t

16 9
[ +by144]
4=16 ,§=16=>a=4, b=3
OMISSHFS X-|& 8, CTETLISTE
yemearser: A(h+a, k), A’'(h-a, k)
A(0+4, 0), A’(0-4, 0)
A4, 0), A'(-4, 0)
Galwmisst: S(h+c, k), S’(h-c, k)
t=a’+b’ =16 + 9 =25
= c=25
Golwmsst: S (0+5,0) and S’(0-5, 0)

S (5,0) and S'(-5, 0)

3 MARKS

1. ¥+ V=16 aieim 6l L S&levT MHmever
3X+y+5=0-g el Lurss Gsmsmi_
oL GdlewT Eoerumr(h Sireuors.

Firey:

X%+ y? =16 61687 6uL L (LpLd

3x +y + 5 = Greoim GCrirGasm(Hid

Qeu (b yererfl suflé QFsdayit

UL L Gdleur &LoeoTLm(h)
X+y?-16+A1(3x +y +5) =0

-1

2y,
2
@s1 3x +y + 5 = OLigyemem Hmed
—31, A _
3(22)-2+5=0
—9p A

22 .245=0
2 2

B+5=0
== A=1
2 _
X%+y%-16+1(3x +y +5) =0
X2+ y+3x+y-11=0
2. (1,1),(2,-1)ommid (3,2) eTedtm eLpaiimy
yetefleser  euflFGammind oL gdler
FLoeoTUm(h SIT600TS.
irey:
oL GdleT GQumg) &erum(b
X2+ Y+ 2gx + 2fy + ¢ = 0D

@& (1,1), (2,1), (3, 2usteaflsar aufle
Glz606uGT60

. —31
6ULOLLILD (T ,

www.TrbTnpsc.com

(1,1) => (15 + (1Y + 2g(1) + 2f(1) + ¢ =
0

2g +2f+c=-2—0Q)

(2,-1) => (2f + (-1)° + 29(2) + 2f(-1) + ¢
=0

4g-2f+c= -5-503)

(32) => (3f + (2y + 29(3) + 2f(2) +c = 0
6g +4f + c = -13-(4)

@-@ => -29+41=3-0)
@-3) => 2g+6f=-8-(6)
® +® => 0+10f=-5

— g=—

2
f & g -a07 ey 2)-60 Nyl
-5 -1 _
ZT)+2(T)+C—'2
S5-1+c=-2
C=4
GCaHemeuwlent FLoeorum(h
XY +2AD) X + AT )y+4=0

X*+y+5x-y+4=0

3) meTeu L gdlet emowid, Galwrisar
PEOETSAT O  QUWSGmTS6T
SITE001 & (;C—:) +(yTz) =1

Firey:

(G +5) =1
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16 4
1-2% =5
ae=5%=4 =>ae=4
i) emwowid : (0,0)

i) @alwkiser : (+ae,0) = ¢4,0)

i) emer&ar : (+a, 0) = ¢5,0)

iV) QW&GmTEET : X = i% =
S —pfN25
~4/5 It
=2 BRI ;
) G 1 erarm

IiFlureuememugdng 10x — 3y + 9 = 0
ororm  OCrpisGasmlieneg  ([@lemeuorwimenr

Qg,rr@(‘&asrn;@é &L06uTLIT () SH6m 61T &
SHITEU0T .
Sirey:
(f_ﬁz) +(;V_j) =1 =>34=16, =64
10x — 3y + 9 = Gmuley
-3y =-10x -9
—10x _( )

. 10
SR M =—

CerhGasTL g6 sLwarum(

y =mx va2zm?2 — b2
=12 X +
3
/16(ﬂ) — 64
=12X i 1600-576
3 9

égx i 2

3 3
3y = 10% 32
10x -3y 32 =0

www.TrbTnpsc.com

5) Y =4ax eTeTm UTeImeTuSEnE ‘ti
6T60TM yereflufled euemWIILIHLD
QemGasr@h, urameTwSHms et (Hid
‘t,, 6Teurm LaTeflufsd &7hdléE0efls t, =

(ty+2) o s
Sirey:
(a t*, 2a 1)

gLoeorum(h)

-60 OFmGaTL g6t

y+xt=at’ 2at
L y-2ai=-xy+at’
Y —2at = - t,(x — at?)

(@ v, 2a b LIT 62160 61T LI & & 6T

LOG161T 617 S0
2af-2at = -h(at?, atd)
2a(1- ty) = -ab (- ;%)
2a(4- ty) = -af (t+ 1) (t2- t)
2 =1(t,+ty)

-2
i+t1—t1

o= -t - tz_l
BlyilEasiu L g.
5 MARKS

1. 4X+36 Y+40x-288y +532 = GTeirm
S Ll cusmemellest G6ILBISET (LpsmewT S 6T
oMl gger  CrlL&s  GOnES
GOTBIGHEN6TS HIT6utT .

Sirey:

X & y
(PUEUTSELOTE S

Ly semer

4x2+36 Y+40x-288y +532 = 0.
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4(x*+10x) + 36 (¥-8y) = - 532

4(X%+ 10x + B — 5) + 36(y-8y + #— &)
=-532

4] (x+5)°-25] + 36 [(y — 4§-16] = - 532

A(x+5Y + 36 (y — 4§ = - 532+ 100 + 576
=144

M (x+5)2 +(y—4)2 =1
36 4

4=36,65=4

@8 o Boalld QEILES  Xx-
I|&55E BmemTmeT g

goLwid : x+5 =0 y-4=0
x=-5 y=4
C(-5,4)= (hk)
pemer&at © (hta,k)
=(-5+6,4),(-5-6 ,4)
=(1,4) ,(-114)
Glwmiset ©  (h + c,k)
@G G= d+b?
=36-4
=32
C=a/32 =142

Golwmiser : (-5-4/2 ,4) , (-5 + 4/2, 4
)

QL &dler ford = 2a = 2(6) = 12 units

@hnédar gomd = 2b = 2(2) = 4 units

www.TrbTnpsc.com

2. @ aufliurensulled 2 ater gjemiy
sTeu L suememelleT 2 wiplh 3uf Lommih
Bl 128 e FT6E aurse &dler
Iiseuid 3 mmid 2 wirih 2.7.8 eteufled
@5 eursard susmerallar aufl GlEsa

(Lplg.WjLom?

Sirey:
UL S&ledlmha!
a=6,b=3
rbeTeuL L FLoeuTum(h),
(=)+HEH)=1  ->@
soLwgSlelmhg 1.56 (3/2 1)
gnrsdled  euemerelest 2 wirid
SHITEUT X = Z ot LATluTlL
(1.5)2 y2 | _
O- () +HE5)=1
Y2\ _ /2)2
(5)=1-6)
9
¥ 9(14(;))
(139
_( 144 )
135
=)
135
e )
? 114.-62 )
=2.90

@aermed  suememailest  emLowG el [mHGI
1.5 gnrsdled auemereler 2 wirh 2.90u8
sTeoTG6v 6T SH6TTLD GlF6UEYILD.

3. gm QammE ureddler 60U
FTaLLGHHE uTameny &Sl L
UL S5l60 2 _aTeTeumm)
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Qurmssiu’ Peterg. GERIGS g Sl
QUL BIGET FmensuliLiGduiled
paldamaimsgn 68 @l Qeusfl
@\(msELWwrm) SIMLSSLILIL (h6Tar g
yeoaidlGsgs  yao  Gremik
QemEsg  sbll QL EISEHSSTeT
HRET 560G GHIT600T 5.

diray:
pewerr = (h, k)
=(0,3)
(x =y = 4a (y-k)
X=4a (y-3) -
(30,16)ureuememiwid e L6 6T HTe0
30=4a (16 -3)
=4a (13)
) @
@ ¥=4( )03
X503 -0

i) X = 6 eTenfled

®— 36=(—>)(y-3)

36x%13

V-3 = =2 = (=) =
0.52

Y = 3+0.52
Y=3.528
i) x=12 sreufled

30%30

®— 144= (—/-) (-3

www.TrbTnpsc.com

144%13 208
30+30 ) _(100) -

(y-3)= (
2.08

Y =3 +2.08

Y = 5.08

4. @m Sam 26 (Gsilen (Gl
mrenile Gn&@ Qo ® idlurailensmus
ougelled 2 etergl.  Guaid  g|HeT
gLoguTum(h) ((30)2) ((44)2) = 1 gimever
1506 e wripeLwg. Gued, oy
sllemerigdlent emLowGledlmig Smevfleot
GusLi@dlssmer M ewwgSledl g
QpuGIeEG — o6iem  FNUSHled
urdlwrs o erergl. gneniler CLILEGS
Lhm  Suelu@gdul el LEismenr
SHIT600T .

Sirey:

Car@ssiulL g p+2p = 150
p 3150
P=50

ginewflesr GupU@Gduler o = 50um
gTeuotleot Ooqul'JU@g‘,]uﬁlsu’T gy = 1000

y2 -
((30)2 ) ((44)2 ) = _)®
) y =506t60flsd
y2 _ i
®_) (30)2 (44)2) - =

x2 (50)2

((30)2) =14 (44)2 )

X2 2500

((30)2) =1 +(1936) =
=2.291

4436
( 1936 )

2 x2=30%2.291

= x= 30V2.201
= = 30 *(2.4839)
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= X=74.51m
i) y = 100616uflsd
x2 (100)2 . _ _
@_) ((30)2) P2 (44)2 ) =1 =

X2 10000

((30)2) =14 1936 )

x2 11936

(30)2) :( 1936 ) =6.17
%307 *6.17
x = 306.17 = 30 *

(

(2.4839)
X=74.51m
The diameter of the top = 45.41m

The diameter of the base = 74.51m.

5. A, Beam @ usieflsar 108

@emLGleuetlufled 2 666D, @rsL
yereflsefled  GeusiGoum  Crrmisaflsd
GaL sliu L Qg &8 55860l (HHS)

Ceoug 555D 2 emiLmer @0 A 6T6oTm
yerefl B  eteor  yaTeflemwell. 6.8

J|(mSmenLoulled 2_6Temg) sT6uT
Kol Seiu’ L g Qaug &F&55LD
o mUILTe @b e GOUOLL

EUEMATEUEMIT S 2L LI L G| 6T60T Lf,]@lfﬂﬁﬁgj
O|S60T FLo6TUT(h SIT6unT .

Sire:
Sp—sSp=6 =>2a=6
a=3
4=9

ss’-6u7 emLowitd ¢ (0,0)

Then equation

www.TrbTnpsc.com

@sar suaiur@ = — % =1 -Q

a2

cs=5=>ae=5
3e=5
5
e_— —_—
3
b%= &(e*-1)
=9(5 -1)
=9(%)
b’*= 16

x2 2
__y_ :1
9 16

B3l @@ JFUTamaTLLD g GLD.
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6.GleusLiT @uwimnsemflgLD
Ifley - gy

1). A2,-1,3) B(4, 2, 18 yerefl
anfl Qaawid Car ipsd smirdlwi
SFLOGUTUT(D SHIT6UuT 5.

gire :
X1 = 2,yl — _1,Z1= 3

Xy :4h,y2 = 2,22 =1

X=X1 _ Y=YV1 _ 2721

X2—=X1 Y2=V1 Z27Z1

z-3
4-2 2-(-1) 1-3

2). e (—i> +;; + ;{) = 7 LommiLd

7(;: o ;‘) = 26 @\ SeTHIS6T

Qamigsgl sefled ) - e WO STemTs.

@m sarmisar CFREGSSH —. ~=0

ny

(b+n+3) (G+g-n)=0
AM4-21=0

A—-17=0,A=17

www.TrbTnpsc.com

3). @rewi() CriT&CaTHISEHEE

- ) . . ox+d
@eoLiu’L GQmGsTD Srats ~——
_y-7 _z+5

4 5

bd _ Bit4j+5k) (2i+j+k)

Co® ==
|?”E’| V32142452 V22412412
_ 6+4+5
VO+16+25vVA+1+1
15 _ 15

V50V6  32V6

3 _\343
Va3 43
=1

2
o1 (V3
O= cos (2)
T
N

4).» =ay - +a, - +az — evefled
a i j k

— * (—)*—)) + - * (—)*—)) +- (—)*—))
i a i j a j k \a k

= 2— oteur [l(mLl.
gire :
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=3—>-(a1—_>+a2—,>+a3—>)
a i j k
=3 - -

a a
=2-

a

5). (2,3,4), (-1,4,5) (8,1, 3&m

yereflaser e Camenwn LeiaflEar sTeorss

ST (hs.

@@ yerafl anflé Qasdaid Gasmiper
FLoerum(h

X=X1 _Y=YV1 _ Z—Z1

X2—X1 Y2=V1 Z2—7Z

x=2 _y-3_z—4
-1-2 4-3 5-4
xXx—2 _y-3 z—4

= == (x,y,2)yereflser

-3 1 1

(8,1,2)6t6ur Wyehludl

[y E = E — ﬂ
-3 1 1
L-2=2
-3
—2=-2= -2=> Qo @
GaITLsmLoa6uT6UIT (GLD
Afley :
1). sin (@+p) = sina coP + cosr Sinp
QeausLm (emmuilsd FlpL.
gira :
Let>=—
a OA
S>=—
b OB

— = C0So— +sina —
a i j

- = — +sinf3 —
. cosBi+ ,Bj

www.TrbTnpsc.com

- - -
i j k
o= WY
P cosf sinf 0

cosa Sina 0

=l (sino. cosp + cosa sinB) ---(1)

o= |;>| |;>| sin @ +B)> - (2)

sum (1) and (2)

sin (@ +B) = sim coP + cost sind

2). = (—>+—>+—>)+t(—

20 3] 4k
. . X3 zZ+1
> 4+->—-> LommILD —:l =—
20§ 2k 2 -1 2

@emLOuUl L ST ST6unTs.

e A e e I e e Tl

a 2i 3j 4k b 20 j 2k
- = —>, 2= —4 -
c i 2k d 21 j 2k

D= — 5 — >
c a i 3j 6k
g =G=)3l
7
e - -
i j k
C-2)*>=l1 -3 -6
-2 1 =2

=4 -
12i  14j 5k

|2 =@+ 7+ -2
—VIFIT4 =9 =3

—t— - —
d_ 120 14j 5k

3

V144+196+25 V365

3 3
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3). epsmevallLBiser AC Lomgith BD g
LweTURGSH QeusLLd (psmmulled
wrm&T ABCD e upliy (Smemis) Ys
|—>*—> eteur [\,

AC BD

gire :

mrm&r ABCD eor Ly
=ugly [ A ABC + A ACD]

1
=1 (x> = (>*—>
7 (AB*AC) + 2 (AC*AD)

1
=15 (— =
bt vrayrd)

=Yoox (— >+ o)
AC AB  AD

=Yook (= + o)
AC BA AD

=% (-x—
7 (AC*BD)

Area of quadrilateral ABCD = J(z—>*—>
AC BD
4).o>+2+2 oreurm Flemev GleudL emiye:
i 2
Gamewi Letafluflesr Nibud yeireflser

= (= +>+ —) = 38eTaTm FHemGHSled
r i 2j 4k

SIT6U0T 5.

girey

->=>5+4+-4+->, o=->+-5+—>,p=38
u i 2j 3k n i 2j 4k

Qbuds yetefl — et BlemeuGleudL it
v

-G
P
[l

S-o=(=+-24+-) ,(—>+—>+—->)
v ou i 2j 3k i 2j 4k

=1+4+12=17

o[ =2+ @2+ @2

www.TrbTnpsc.com

=1+4+16 =21

(—i>+2—1>,+;c)+ 2((38—17) (—i>+z—]>_+a>c))

- =

v 21

= (o 4ot o) 4 2 (1)L
i 2j 3k 21

=4+ -o4+-o04+ o0o4+-o04->
i j 3k 20 4 8k

S>=>54+-54+—
v 3i  6j 11k

1).A(3, -1, 2) B(1, -1, -3)ommutb c(4, -3,
1) A &dl6d Ll STevers.

gire :
D= =+ D= — 5 — >,
oA 3i Jj 2k OB i j 3k

—= - —= -+ oS—> 4 > —
AC OC OA 4 3j k 3i j
- - —

2k i 5] K

o o . 1
A Sdleot Uiy = > |£*Z7:

- o5 -

i
|;;*A_C’:—12 0 -5

:?(0—10)—7(2+5 +- (4-0)

== -5+ -
10i 7j 4k

| = VEIOP T T @?

=/100 + 49 + 16 =165

A Sdleot LTy = 151/165 &4
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2). Let—,—, = be unit vector
a b c

- ——>= - —— =0 and the angle
a b a c

between? and - is %- Prove that
c

- =12(>% )
a b ¢

Sol.
Given-o »= - - =0 =>-1-
a b a ¢ a b
and - 1-
a C
=>-=1rto
a

(= and ») => - and — are parallel
b c b c

- *x>= |—>| |—>|since—>
b ¢ b c n

=l

x> = 1*1 st -
c 6 n

- *
b

ol
N |

-
a

- =2(—> %)
a b ¢

1). x+1=2y=-12mmmid

X = y+2 = 6z-qo)emeu (M SHeTdHled
Smuowrd Cam@SEs erer flpie|s.

www.TrbTnpsc.com

2= = -5 4+ S+ =>5— 54>
c d 2j k i i 2j k
- - -
i J k
1 1
—¥x—= 1 - T
b d 2 112
1 1 -
6

5

2 3 1
Sk =— D —— > 4>
b ¢ 12§ 12 2k

1 1 1
SDxDI=— ——5 + -
b ¢ 6. 4 j 2 k

(2 *2)(7*2)

1 1
=Qug ' gty

6 4 2 6

= % #0 @emeu @ STSHl0 jemLowims
Car(aer

2).o+o+-> ,o—o4+),

20 3 ki 2 2k
3—;+7+3—;) 65 Som GleusLiT 6T

Elpiays.
gire :

>=(=2+-=24+-)
a 21 3j k

PEEoR

>=(=>+->4+-)
c 3 j 3k

- (=>*>)=0
a b ¢

2 3 1
2GR =2 2
3 1 3

= 2(-6-2) -3(3-6) + 1( 1+6)

= 2(-8) -3(-3) + 1(7)
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=-16+9+7 - = (—>+—>+—>)
a 20 2j

=0 @l @, Hon CleudL Taer S=(o+ - + )
3). (2,3,6)siafl anfl QFmagid
X1 _ oyl _z=3 e 2=Gta2+2)

2 3 1 ny! ¢ ' J

GleusLiT gLosorum

=2 2 Qapfihe @osmurs, 0
Qasrr@g,gjm gjsmsmu.lrras L&TS GloudL it sl (1-1s) SFs o+t
FLoeoTUm(h SIT600TS.
oy : —>=(1—s)(—?+—>,+—k->)+s(;i>+3—]>,+

—->) +t (—> + 6—) + —->)

S>=(=>+-=+ —>) ¢
2 3 . . o o

¢ P SMiTedid gwarurBHis6r =

(—>+—>+—>) X=Xy Y=V Z— 2
29 3j Xo—=X1 Y2—Y1 Z2—7Z1|=0
S>=(2—>2- —>) ‘1 “2 ‘s
c 2i 5]
x W — a1
7 7R 9-2 3-2 6-1|=0
(F*2)=2 3 1 2 6 6
Cc
2 =5 -3 x—2 y—2 z-1
= < —(-B- —10 — 7 1 5 =0
=2 (=9+5) —=(6-2) + (-10 - 6) , : °
ot (x-2) (6-30) — (y-2) (42-10) + (z-1) (42-2)
=0
G-D(32)=G-G+y+ (x-2) (-24) — (y-2) (32) + (z-1) (40) = 0
) ptp—2) 50
4 8j 16k -24x + 48 — 32y + 64 + 40z -40 = 0
2 Catg @) (8+24-96) +by -8=>3x+4y-52-9=0
50
5). e Wp&HGsmenm et
-4x +8y — 162 = -80 2 &flsafleflmig Jaundlie adlGr
2 _GT6T LS&MISEHEE aUMTWLILIHLD
Thy—-4=>x+2y+4z=20 QemiGsg Car@ser e Leaafluis
X —2y+4z-20=0 shdléed e Hed.
4).(2,2,1) (9,3,6) e G5 ysiref auflé o :
ueflggih 2x + 6y + 62 = FreTm A ABC
B SFNE CEFrGSsTES CFMMs Gnipll
Camiped GeusLiT HmId Smiedid =2
SFLOGTUT(H SHIT6U0T 5.
— =
,Q‘J‘frm . OB b
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—=—
oCc ¢

- lrto->=>-—-1r—
AD BC 04 BC

=>—>*(—>——>)=O

a c b

()-(3) =0 ~@

a ¢ a b

- 1lrto»>=>—->1r—
BE cA OB CA

=>—>*(—>——>)=O

b a c

()-(2) =0 -

a b b ¢

(1) + @) =>(2%2) = (3+2) =0

b ¢

(2)-(G-7)=0

— 1lrto—
ocC BA

- 1lrto—
CF BA

A Sdlar G515 Carhser e Uaiafl
auflé QFsdaiLd.
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-
62160 5515 |60T 35 6U8T] G g 3 60T
LwiesTUm(h&em

2 marks

1). s(t) =2 — £+3 Nergud s @@

gleoi B gGMD  Ymudlarng
ThEGSHS Crymiseaflsd LI
domsbusyd YhssWYD  Y&Hw

wdllemu IemLutd ?

3t3

S(t) ==--t+3

3t2

V:S’(t):T-Zt
a:S(t)=2t-2
st=0=)t-2t=0
t(t-2) = 0
t=0ommtd t = 2

~t=0, 201D Gurg) FlemaGousid
&S wdllemu giemLuj .

t=0,2
S'(t)=0=)2t-2=0
2t=2
t=1

~t=letegyud Gurg YhHSs Y&
dllimu gemL L.

2) Y = X + 2e” cusmemsusnrs@ ( 0, 2)
yereflufled
QaTHCsT®H,QemGasT(Hisafler
FLGTUIT(HSH6M6T & SHIT 600155,

y =x* + 2¢*

www.TrbTnpsc.com

L= 4% + 28
dx

m=(2) (0,2), =4(0) + 22
m=0+2(1)
m=2

(0,2)-60 QETHIGSHTLIp60T SFLosaTLIT(D.

y-y1 = m(xx4)
y-2 = 2 (x-0)

y-2 = 2X
=)2x-y+2=0

(0,2)- 6b QemiGasm iger FLoeuTLm(H.
YU = ‘7% (X-x1)
y-2 = —~(x-0)

2(y-2) =-1(x)
2y —4 = -x

1. X+2y-4=0

3). f(x) :i serm srmingG a, D sow
(LP(LD6T6UT & 61T & Gl mevorL (Ppigws
@eLGeusr [a,b] & ogrefl wdlys
Campmsdeiuy Qudl wdiy Vab -
oter [Emieys

F(x) pergl  [a,b] b QzmLiréSwimeorsg
(a,b) - 60 euemESWILSFH5HG -

. gqrafl wdliy Canmsdlearue C e (a
D)oy 6ur .

f(c) :% - (1) eTevTm) (@)(HS(S)LD.

f(x)=2

X
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1—

F ) ===)F ()=

(1) =@

. ﬁ(l/b)-(l/a)

c2
1 _ 1 [a b
c2 _b—a ba
_ 1 [a b
a-b L ba

1

-—=ab
c2

~c=Vab

4). f(x) = 3¢ — 4% emidnG [-1 , 2]
@en_Qeuaflulled LG, whyd WFsm
amd) wdliysmerd Srers.

f(x) = 3x*- 4x3
f(x) = 12x3 - 12¢
= 12% (x-1)

f'(x)=0=>12¥ (x-1)=0

- x=0, x=1
Bemeviiyateflesat x = 0,1
f(x) = 3x* — 4%
f(0) = 3(0) — 4(0) = 0
f(1) = 3(1) - 4(1) =3-4 = -1
f(-1) = 3(-1) — 4(-1) = 3(1)-4(-1)

=3+4=7

f(2) = 3(2)- 42y

=3(16)-4(8)

=48 -32 =16

WBHQLE @u(mon= 16

www.TrbTnpsc.com

&dm o = -1

5). f(x) ==

x2—
QaramagesTHCHT(HSHEMETS: SHIT6TT .

- 6LIGT) 61T GLIEDIT (S

x-1=0=) %1
x=%x1

x2

limy; f(0)=limyy x2—1

= =——=w
0

. . X2
lim,_, _; f(x) =lim,__4 b1

D% _

= 1
=

1
—_— == =
1-1 0

x=1,x =-1g Swme ElmasEss
QaTHCHT(HS6T.

x2

x2(1+xiz)

lim, e f(x) =lim,_

y =1 eTeiTLgy) lemitol L
QarmastsTHCHTH I GL.

3 marks

1). X-y? =r? wpgwe xy = ¢ ey
6T 61T GLEWI & 61T CFmRIGSSTS
Qe ip &0 &TeTEHLD 6TaTSSTL (NS

c,r gpdlwene wrdladlseir.
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Qe ip&QEmarEmd Latefl ( x, y) sTenrs.
X2y =1

X - eowll QUTMISE auemsullL

dy _
2X — ZyE =0
dy _
-ZyE—-Zx
@ _ -z
dx _—Zy

ms = ()00
Qeulig &GasmaiEmid Letefl (x,,y;)

Xy = &

2

mp= (Z_z)(xl,yl) :%

_ (x1) [—c?
miXm, = y_1 E

. GUEMETEUEDTSH6T ClFMHIGHSHSHTSH
@6l 19 &Gl ST6IT (GTHLD.

2). log (1+x)eur Queurresflest ellifleme

-1<x<1 6d BmewT @ LW &lwomm 2 milisar
6UEMI] SHIT6U0TS.

www.TrbTnpsc.com

log(1+x)Lb I&6uT x=0 v
6UENS&S0S LSS EHLD | Lol
f(x) log(1+x) logl1=0
f(x) 1 1
1 T x 1+0
f"(x) -1 1 _=
(1+x)2 e
f m(X) (-1)(-2) _ 2 2 —
(1+x)3  (1+x)3 (1+0)3
fYx) |23 __-6 _—6
(1+2)*  (1+4)* (1+0)*

Gu&eorfler alifley.
f(x) = £(0) +ZF(0)+2F'(0)+..

09 (1) = 0 +£(AME V@)
6)+..

2 3 4
X X 2x 6X
= +—

1 1%2  1%2x3  1x2*3x4

3

O BE | 4
|Og (1+X) =X — +? =

I+
4

3) wdUIBS :lim = (sinx) ™
72

Let g(x) =(sinx)t4*

log g(x) = log(sinx)t*™*

= tan x. log (sin x)

_log (sinx)
loQ g(X) T cotx
. i log (sinx)
llqug 10g g(x) _hmx—>§ cotx

(EJoser

Coomigmedlenr eldlemw’s LweTLBhSS

I SCOSX
= qooSinx
1mX_)7 <

sin2x

=limx_>§(—cosx sinx)

T . T
= -C0S=-sIn—-
2 2
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lim,_=log g(x) =-(0)(1)

log [limx_%g(x)] =0
lim,_rg(x)=€=1
2

4). @rewi@® lenaserewrseflem v (Higed12
Guyd OCupsGsesTms  GumLLD
oteuflsb )5 GTEUITSHEMENTE: SHIT60TE.

@\ sTewTSEHAT X,y 6T6UTS
G (HFHev= 12

X+y =12

y=12-x
Cu@BHEGS0sTmS !

A =xy

A = x(12-x)

A(x) = 12x — X

A’'(X) =12 -2x

A’(x) = -2

QumLoid flukgemen A’(x) =0

> 12-2x=0
2x =12
S X=6

x=6 eTafled A(X) =-2 <0
x=6-60 A(x) Qu(rLod gyevLflmg)
Xx=6 =>y=12-6,y=6
GCoemauwimer sTemTHaT= 6, 6
Qupo wdly = xy
= (6)(6)
=36

5) F(x) = x(x+3) ez , -3< x < 0 6160t
METEIMTSEG X IEFFINE Gleneuoruims
aummuiu@L QsT@CsT IgaT G THLD

www.TrbTnpsc.com

yereflullesr x et wdliy ( -3 ,6 ) eTerm
@en_Qeuaflulled gemiowjid eteor Flmies.

e f(x) = (2+3x)e 2

F(x) = (2x+3)e "z

f(x) Quergl [-3,0] -60 Qridwrerg
(-3,0)60 suemBUIL G555
f(-3) = f (0) =0CrmsSlert GCaHMIILIY
¢ € (-3,0)mw f'(c) = O eTemILOTM)
STEUOTEUMTLD
“(2c+3)e”z =0
2c+3=0

2c =-3

C=-=-15€(-30)

X = -1.5yeraflulles eusmmwiiiL@LD
QarHCaT® X &fhE Glememums
BBsELD

5 marks

Camereugallsh 2 6iem 6@, 2 FlenLuiled
srhflener elarmesE 1000G&L8 *rayib
allggde mmb emdlermed guud 7 QFL
smbGurgl  eagiemuuilear oy rSSler
orpur'® eigb  ewier? G
Gomuryiiy orgur’(h  efsSmauLd
60T S5 (5 5.

GCameraugen  omgemuuier guud r
6T6UT &
4 3
SO 6T V = _7f
dv dr
E =--T (3[25 )

dv _ 2dr
q dar ar -(1)

4
3
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. serddlarLig r = 7 GQaLf, % =
1000asf °

(1) => 1000 = 4 (7Y =
dr _ 1000
dt ~ 4m(7)2

=220 Qi eSleurmp

491

SLrSdleT Ty’ G allsLb: 250

491

efleurimig
Camergdlar Gmuming: S = 4ur?

ds _ dar
Prie 4 (2]’5)

250

=a () ()

491

ds _ 2000

at 7
urliueredes ommur” ® eigi

2000
7

Q&L?/ eMeurmig

2) y=X pmitd y = (x-3Y eTevim
UEHET AT &(6THE (S @l6mLLILL L
CameuuTS6m&s SITeuts.

x=x -(1)

X = (x-3F —(2)

(Lobagid (2) sdlap!

x? = (x-3Y

x>= x* = 6x +9

6x =9

3
X==
2

y=xt=>y=()? = 9/4

Qeulig &G smsiTEmLDd LaTafl (% ) z)

y=x

www.TrbTnpsc.com

Gamemrd O 6T60TS

ml—-m2
1+mim?2

tang =

:I 3—(-3)
1+(3)(3)

15
15
tar® ==

o = tan'(3)

3

4

3) f(x) =4x + 3% — 6x +16160TM
gmning eflwesy

QevL GeueflE6i, @I ch&TihES
SmFldliLy Sremrs.

f(X) =4 +3¢-6x+1
f'(x) = 12x° + 6x — 6
f'(x) = 6(2x% + x — 1)
f’ (x) =6(x+1) (2x-1)
f'(x) =0
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= 6(x+1) (2x-1) =0 Ly3.9
x=-1lor 2x-1=0 2 4
2x=1 2+3-8 _ 3
1 4 ' 4
X =

2

Blenyligeraflser X = -1, ¥

@ Qeuaflasr : (-0, -1), (-1,1/2),(-

5) e@m Gsaus aigalomar LSS50
24 Q& 2 Sieralh@G
LU L geterg) . Cuhym wHmId
Spiym grEser 1.5 @&l geTalgid

1/2 o) whm ussESeflar @R 1 Q&
Goilatl | (1) | (LU2) | (U200 Seiesd G Ganf] dllu-Gaiarg
X =-2 x=0 % =1 . &rdls L& &S Sler SODES
f(x) OO=+  [OM=- | (")) = Houemaidg sigat por, sjseriast
eur @l eTGuTaTeUT S @\(MHS& Geausuur(HILD .
6(x+1)(2x-1)
epIflwiebL gl Lwrs |JLors | SLors YFALIu’L ussSHeT Barn X 9)&6L
ST LD Quullh GEEh | gomn  yjrers

ardlgsdler memn = x +2
f(x) (-o0,-1),mmid (1/200), 60 f(X)

I Lwors symud (-1,1/2) F (X)L Lomss
Gmri@td

snHssdlar g&eum =y + 3

ugly: A = (x+ 2) (y + 3)
f'(x) &of @Ml x =-1 & WlenaullsdlmHg y
SEOMITS LOTN)I6UST6D A=Xy+t3x +2y+6
semisbdleniue Xy = 24

y = 24/x
@ ¢hemihg Qupdliy =f(-1)
D A=24+3x+42) + 6

=4 (-3) + 3(-17 _ 48
_6(-1) +1 A (x) =3X +7+30
v roy _ o 48
=-4+3+H4 AX)=3-
=6 A" (x) = (-48)(-2) _ 96

x3 3
f'(x) oF @il Y2-0 Gomuledmia)

Wlen&d @ LTmieuSTe) A'(X) =0=>3—g =0

@ eeribg fApw wdliy = f(1/2) 348
X
_ 3 1 2 _ _ _
_@_)4'3(5)' £=16=>x=4

X = deraflsd , A” (x) = 2>0

) o) 2

X = 4eterfled A (X) Fimiotd gjemLSlmgil.
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x:4=>y=% =24—4:6

Grhg urlusTelng CHemeuwimer
oD =X + 2 = 4+2 = GolgLl
Siso =y + 3 = 6 + 3 = @&

6) y = f(x) = ¥ — X — 6eT60TMm
616D 61T 6LI6DTOMLLI 6LIGDI] S>.

f(X) =x*—x—6

=>y =(x-3) (x+2)
1. &MTU&LD; (-00,00)

2. Qe (D& g6mT (D61 :

y =0 => Geu_ (DS gemrsem x =3, X = -
2

x = 0 = >CeuHSgimihser y = -6
X Geu’Dsgemsar: (3,0) , (-2,0)
y Qe (W guswr(hser: = (0,-6 )

3. (x)=2x-1
f(x)=0=>2x-1=0

2x=1

X=11

1 X = Yoo Blemeriiyatef]l gemiouid
4.17(x) =2>0#x

11X = V5,60 f(X) Flgiwo wdllemu gjemujd

Agio Wy = ()

www.TrbTnpsc.com

5. f(x) ot eféemn Y > -2

6. f’ (X) = 2, # X eTeuTLSHM6d GlLouI6T6uET
CriraGar® wuwemwwlgid CeGrmes
Gflay 2y@1d

7. f(x) suememey LrmmlieaTeflEsaT @ledemen

8. QarmageaTHCaT(HiSEsT Glsismev.
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8. susmawihiseT LHYID LGH
616788 015 (L) 58617

2 wdHIGuewT elerm alemL e

1) f(x) = x* +3x er0im &mirdled df smeveres

LofmILD x=3 whgd dx = 0.02.

srgbGuTg df & wHINDE.
f(x) =x*+3x — f ‘(X) = 2x +3
—df = (2*3+3) 0.02

=9(0.02) [ P02 ]

df =0.18

2 MSl6u LD EMTLS(EHSE
QarhEsiuL  yereflsefled  Crflwed
Gamrymu wdlliemud SITEUT &
f(x) = x>-5x+12, % = 2.

Soln;
f(xo) = 2°-5(2)+12
=8 -10 +12
f() =10
f(x) = 3x>-5
f(0) = £(2) = 3(2)*5
=3(4)-5=7
L(x) = f(xo) +F'(X o) (X-Xo)

L(x) =10 +7(x-2) => 10+7x-14 =3x-
4

3) v(X,y,z) = Xy +yz+zx ,X,y,£ R. steuflsd
aumsui® dv »& Sres.

Soln:
V(X,Y,Z) = Xy +yz + zX

ov _ _
=5 y+0+z = y+z

www.TrbTnpsc.com

ov
—=X+z+0 = x+z
oy

ov
— = 0+y+x = y+
5, 0+y+Xx = y+X

_ov ov v
dv = dx+5 dy + . dz
dv= (y+z) dx + (x+z) dy + (x+y) dz

4) @ GONILL upmeamieT plem
SILLg L Gsmer algaITS 2 6T6Tg).
LleLuller gumd @liph@ 266 5
S gpaad elipnE QaueaflGw 5.3 b
SpEalld 2 arerg) sTefled gL ipar Gamymy
SHEUT D|GTEDEUES HIT6UHT .

Soln:

Camergdler e gerey = % nr

Camymw &ergerey r =508 Ar = dr
=5.3-5 = 0.8If

dv= 4ur’dr => 41(5*5) (0.3)
= 3@mm?

3x2—xy
x2+y2+3

5)&mity g(x,y) = &(S 6TEVEM6V
gy

@@é&@mnmnsﬁ.lim(x,y)_,(l,z) gx,y)a
TEAMGES

3x2—xy
x2+y2+43

axy) =

liIn(x,y)—>(1,2) g(x, Y):

3x2—xy

liM .y ) -, 2 )¥i1y243

3(1)%-1(2) _3-2_1
x2+y2+3 8

8

3 wdliGluewr eleorm ellewL &6
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1 .fererm emmingG Gsr@sSsUUCL X A

X  wHlsEnES Af wmgd  df
smenas. G geumamn ellHs

f(x) = x> -2%% ; x=2 ,Ax =dx = 0.5
soln :
f(x) = x> -2 ; x=2 ,Ax =dx = 0.5
df =f*(x) Ax
= (3 X -4x) AX
=[3(2§-4(2)] 0.5
=[3(4)-8]0.5
=(12-8)0.5
= 4(0.5)
=2.0
Af = f(x + AX) —F (X)
= (2+0.5) —f (2)
= f(2.5) - f(2)
= [ (2.5) -2(2.51] - 2*- 2(2)]
=[ 15.625 - 12.5] - [8 -8]
=3.125

2 2
ST —
€ R® &g Qgridflurerg erer

Bpiays.

2 gmiry f (x,y) =

(a,b)ﬁR2 6TEITLIG) (T SeuTeuflFmawna
yerrefl ererres. f @levT QmLiée]
seremuenw (a,b)@e gy rmuiGaim.

2 s defined fof f(a,b Y[}

a
b2+1

Yf(a,b) =
R2

www.TrbTnpsc.com

lim x2+y”
(xy)-(ab) ¥*+1

||) lim(x‘y)_)(a,b) f ( X, Y) =

Limit exist at (a ,bpR?

i) lim(x’y)q(a‘b) f(x,y)=L=1f(a,b)
_ a?+bp?
T b2+1

61euTG6u f eT6DGUIT eLpEUTM
Blukgamer E@Enid (a,b) sTerm R°. e @6t
sereuflFemawmen Leraflulled Li 5
Qauieuged f gpergl R @6 sTesur
yereflsafignd QamiréSujemwg)

3) IfU(x,y,z) = log (R+y*+Z°)

ou _ 3x3 ou _  3y3 [I
0x x3+y3+z3 ' 9y  x3 +y3+z3 '’ |

ou _ 373

dz X3 +y3+z3

oU 0U aU 3x3 3y3

-3

x"3 +y*3+z"3 "x"3 +y”3+z"3

e —
x"3 +y”3+z"3

- 3(x2 +y+z3)
x"3 +y*3+z"3

2 1 y2 . U U _3
4) u (x,y) :T/Fyy , ﬂ'ﬁllﬂﬁl) Xa+y— _2 u

dy
oTeur [Slmie, .
Soln:
x2+y?
= @0 +@y)®

u (ZX./W) i \/m
227 u(y) =2 2 uxy)

u (X,y Hig ; 2 6L LI SFLOGUTLILY 5 ST6UT
gmiry gyuisfler GammliLig
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— 4+ _—

x yay p
X(")U + au _3 u
ax yay 2

5.V (Xy,z) = R+y*+2%+ 3xyz, ereufld

A L -
dydz  dydz ' Qe

Given : v (x,y,z ) = R+y*+2°+ 3xyz

22 =0 +0+32+ 3xy = 37 +3xz
g—; = 0 +3y+0+ 3xz = 3y} +3xz
0"2v _i 6_1) - —
dyoz T oz ( 0z ) 0+ 3x 3X_>®
0"2v _ 0 ov | _ _
9y0z iy ( 5 ) =0+ 3X—3X—>@
®&@

"2y _ 0"2v

aydz  dydz

5-udliGuerr allerm alewL sar

1) @@ oLl algal SELIgET QLI
12.65 G&.f &@w udlors 12.50&.8
otor  gendalLGSlarng erefle 96T
upliy & 60018 bl (Dioudled
l6uT 6u (T 6u6UT UMMM SITEUT S
1.aflifemy 2.omt Joy 3.5seis

Semyp
r=12.65 ,Ar= @0.15

QUL Guigel S lpet LY A =1 r?

dA
— =27
dr

=2 77 * 12.65 * (+0.15)

Gamymu wdiiy3.795r cnf

www.TrbTnpsc.com

Quout wiy= A (12.5) - A (12.65)
7(12.5)? -m( 12.65 §
7( 156.25 — 160.0225)
= 3.7725m cn?’

) SeufliSlenp : Grounodliy-
Gamymw wdliy

= 3.7725 - (3.7951 )
= 0.0225m cn?
ii. &m Semyp=Gounoglin- Camymu Wiy
GuouinSsmip

0.0225 7
3.7725m

= 0.00596
= 0.006

iii. Caazaigl U * 100 : smiilemy

6.6 %
2)W(XY,Z) =Xy +tyz + zX ; X=U-V ;

Y =UV; Z = u+Vv .u,\e R eteuflsd
5s) - (5 )Jammie s (5 - 1)
@6 jeummles LS| STemTs.

w( X,y,Z ) =Xy +yz + zZX ; X=U-V ;
Yy =uv; Z = u+v.
ow

ow ow
— =y +Z2,—=X+272,—+ Vy+X.
ox y "oy "0z y

X=Uu-v y=uv Z=Utv.

ox ox dy dy o .
= = ~—=1'"==v.—==uUuwW LD
ou 1’6v 1 " du V’av U Lomml

0z 0z

92y 2229,

ou 'ov
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gmisledl alldlig f = sin userer VTl
(uv+u+v)(@)+2u(v)+(uv+u-— 5 dsinu +yasinu “1ginu
v)(1). ox ay 2

- x cos: + y cost =1 sin u

= uv + u+ v+ 2uv + uv+ u-v. gty Yy 2 :

Z—V: = 4uv +2u = 2u (2v+1) @EUmUID COS UYL RIGSHS
du Jdu _1
Xa"‘ ya—y—i tan u.
ow | _ NN 4
(5)(1 2) =2*- (2+1)=1(2+1) =3 4) z(xy)=%y +3xy", X, yER..
: sTeoflsd (2, -1 )@ed zeur Griflwed

Comrrmu wdlly smeurs.
ow _dw dx w dy 0w dz ST iy

E _Ea_v dy dv 0z ov
Let z (x,y) =% + 3xy* , X, Y€ R.
= (uv+v+u) (-1) + (2u) (u) +
z(2,-1)=2(-1) + 3(2)(-1}

(uv+u-v )(1
= 4+6=2
= -U—U -V +3uruv +U -V
0z _ ,
= 28 —-2v=2(d—v) a—ny+3x3?
. (W _ (1 _ (=3 % 11 =2(2) (1) +3( -1
- (5)@_1)-2(1—1)-2(7) e (31 = 20) (1) +3(-1)
=4 +3=-1.
{‘73) 92 _ 2+ 12xy3
ay ~ Y
) 3)u=sing ( g%) sraufld N

5 (2-1)= 2+12(2) (-1

du Ju _1

tX g *Y5, =2 tan u .eteor Hlmieys. P
Crflwed Camymu wliy srewrs.
— (XY ) = qi . 9z
f(xy) = (=) = sin verig L(xy)= 22 1) (x-2)
LUl SSIT60T 5.
g SSM6UT S o ()
Y= \ewe) ~ &

2+ (-1)x-2)+(-20) (y+1
=t% f(x,y) .,V x,y,t = 0. )

: 1 . =2-x+2-20y-20
@miE f Ly - 2-EOLU SLLllg SSTer

GMTLIT(GLD =-x-20y+ 16

of L yof _1 L(x,y)=-(x+20y-16).
X6x+y0y_2 f(x’y) ( y) ( y )

m MATHS / 12™ / CEO TIRUVALLUR / TM

Send Your Questions & Answer Keys to our email id - padasalai.net@gmail.com


www.Padasalai.Net

www.Padasalai.Net www.TrbTnpsc.com

5) g eTemrenefles n QLD Lig eL6ULD
sersHLIu@GL Curg anuBl &56i5L0
Uemy Gamrwwors ,o)Es5  eTeuorevelleT
ggeis Ulemipuiler % LLEIES G
6TEoT SH ST (h .

giray:

1
n

IIbS 6T6U0T X 6T60TSH Y = x

S|r

y %

dm@ log ,

1
n

log y = logx
1
logy = log X.

@munuLd eumsuilh TO&s
levLLiug

dy _ 1 (ax
T=2(3)
< x 100== (< x100)
y n\x
Ay dy _ 1 (dx
2 x 100[[ x100 =, (5 x100)
Sibs erovenlent sgols Wenygula ~ -
LOL_TBI()
sTeoTGeu 6TeotTenRll6oT N QYLD Lilg eLP6ULD
setdEILLuGd Curg) ghu@did Fsaign

Uemyp GCHMIWIOTS ,okg 6TeutTeuntleur
&g6ig Umpuiler % LTI @ LD.
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9. CzTms

516001 560011 55 S et
vwerur(H&6T

2 wSlQuewT ellermalenL et

1). @.&T 9 :2) Gn L L 6lleuT 6TE0EMEVILITS

folx dx & wdlitips.
girey :

Fx)=x a=0andb=1
[ f@)dx = lim,,_, ., izzglf@
f x dx = hmn_>c>o (—)

:limn_m%[l +2+3+...n]

n(n+1)
Fimy 0 nz( 2 )

1
. 1 2 1+H
dim,, —n (T

. 1 1
dim,,_, 0 > (n+;)

1 _1
2 (1+0) B

2). IS : f_
St :

X2+ 2x+5=X+2x+1+4=(x+H+
22

1 x2+ 2x+5

szl dx

1224+ (x+1)?

= (tan-1(2H) 1
I—(ztan (2))_1

1+1 1 —1+1
l a.nl

)

| |
N'J_\»—\

_1 12
=-tan (2)

www.TrbTnpsc.com

== tani* (1)

1m

8

3). @r.&m 9:31) [ x2cosnxdx , n
sTeuTLGl i lems (PWsSSaT gy G .
Sirey :

u =X eTe0T& dv = COSNnX

, _sinnx
u' = 2x [ dr = [ cosnxdx
y _ —cosnx
w=2  p="
—sinnx
V= ——s
s
| = [, cosnxdx

sinnx cosnx ~sinnx

=) -2 ) 2 5

2 (—1)"
ne

I= sinm = 0, cosm = (—1)"

4). wglil@s [ sinxdx

&irey :
T
— (2 cinl0
| = [Zsin'%xdx
_ (10—1) (10—3) (10—5) (10—7) (10—9) T
10 10-2/ \10-4/ \10-6/ \10-8/ 2
9 7 5 3
10°8 "6 "4 2
_ 631
512

5). uHIIPS : fooo x%e 3% dx

f xMe gy =—

qnt1

n=5, a=3

5,-3x 5! _5_!
f x-e dX _35+1 36
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6). 6x+5y = 30, Xx9|&& x=-1MMId X=3
S SemmTed gienL LEILD LTlienLs
&IT600T 5.

. ditey

urliuTer gl X-gi&Sler GLosd
2 66Tl

67601 Gou GaHemevImeoT LITLILY

A= f;ydx

:f3 30—-6x dx

-1 5
_1 3
=2 (30x-32) 7
1 1
=2(90 -27) £ (-30 -3)
96 .
=< SO.QING8ei
7).y=2¢,y=0 wmmu x = 1
S SDmTed QL LIBLD IS S5S6T

ugliemu X — 9|&Fmel QUTHS8I&

SLHMIISTE 2_(HEUTGLD
SlLiQurmeflerr ser geTene Smevtis.

Sirey
Y= 2%
Y=0,=>x=0, x = 1
SH6UT |66 V:nf:yz dx
=itf014x4 dx
_a(*\1
—74(5)0
1
=4 ()
Am
75

3 wdliQuemnt alermelemL e

www.TrbTnpsc.com

1). &L LedletT 6T60EMOUWITES f01x3dxgg

SISO s.
Firey :
F(x) = X a=0and b=1
[7 F @) dx =limye = 0, £C)
1 3,0 1. 1 @n 3
fo x2dx =limy, o n Zr:l f(ﬁ)
=limy, o — {1% 2.4}

1 n?(n+1)?

dim, e 3 .

1
. nt 1+=5
= hmn_,oo F (Tn)

_@+0? _1

4 4

2).{1.1,1.2, 1.3, 1.4, 1.5¥eyd
Aiflellemeorwj_er @& - (pemeur

elldlemwts Lwer LGS [ 11'5x dx &@&
Gamrmu W&y Sremnrs .

Fire :
Ax=11-1=0.1
n=>5
xXo=1,x; =1.1,x, =1.2,x; = 1.3,

x4 =14,x5=15

[} FOodx = {H(x) + f(xy) + fx) + f(acs)
+ (xs) + 34y

S x dxe = {f(D) + f(1.1) + 7(1.2) +

f(1.3) + f(1.4) +} 0.1
={1+1.1+1.2+1.3+1.4}0.1
=(6) (0.1)

fll'sx dx =0.6

MATHS / 12™ / CEO TIRUVALLUR / TM

Send Your Questions & Answer Keys to our email id - padasalai.net@gmail.com


www.Padasalai.Net

www.Padasalai.Net

3). ndlPs :fo1 t—z dx

1

airey
1V1—x _r1Vi-x  V1-x
fo Vix dx _fo 1+x VJ1—x dx
_rl 1—x — ai
_fo — dx X= sint
= (225 costdt | dx = cos tdt
0 V1-sin2t ’

=f0§ 1 — sint dt
= (t+ cos f?
:(§+cos§)—(0+cosO)
:g-l
4). wd1@ : [ x5(1-x2)%dx
e :
=[] x% (1x%)°dx [ X =Si®]
= f(? sin®0(1 — sin?6)° cose do

= [2sin®6 cos™'O© dO :: [dx =

codO]
10 8 2,1
T— %k — % — %k — %k —* =
16 14 12 10 8 6
[x=0,sin0=0]
== [x=1, si®=1,0
336
=
_2]

5). Y = 4axsTeiim LeueemgSh@is
LU YTEIGSSleT Lrlemud
SHIT600T 5.

gty :

Qaausgdlar Fwarur@® , X=a .

www.TrbTnpsc.com

ureusmeSmE Geul (I LeTerflser
L (a,2a)ommid L (a, -2a ) GL.
LTeUemETILD SFL&ESTTS @HLLST
Caemauumsor LTy A guerg Y = 2

Va/x stetm ursusnewsdler LGd x-
I|&& , X = 0,X = agemLu@Ld urlsnull
GuITed @\(HLILEIEG I SLD.

A :2f0aydx

= 2f0a2\/5\/§ dx
= 4/a{ye

=2 Va(ava)
=842

3
5 wdlLGuemr ellsrmailenL e

1). Qgremauihsemer & L L edleT

(TELEMALITS SEuuTSEI(HS [ 14 (2x% + 3) dx
airey :
[} fo)dx

=limy, o0 2 Sia f(@+ (0= a)7)

F(X)=2¢ +3
a=1,b=4
f(at(b-a)") = 2 £-)* + 3
18r2 12r
=5+—+—
n? n

ff(ZxZ + 3)dx =1lim,,_,e % yr_.(5+

18r2  12r
+20)
n

n2

. 15 «n 54 «n .2, 36
- hmn—mo{?z:rzl 1 +§Zr=1r +ﬁ

r=17}
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=limyy e [ + 2 2D |, 36 gLei (1)+ (2)sSlwha)
n n 6 n
nn+1) n
2 | | +1=/+log(1 + tant) + log ——
1.-,2\a
=lim,, {15+ 9(1 + -)(2+) +18
) ool (42w f4 log (1 + tant) (1+t 5
(1))
=15+9 (1) (2) + 18 (1) =log 2 dt
=15+18+18 =51 =|ng(t§
110g (1+x)
gira : =Zlog 2
5 109
1log (1+x)
|= [y =5 dx 110
0 2 g(1+x)
Ix fo I dx = |Og 2
Put x=tan t dx = sttt eTers g
3). wHIIBHS : g lxsinl dx
X=0 t=0 ). wAG f Vi-x?
ey :
x=1 t= a %
t=sin~lx dt =—— dx
Nyl
= e g =
x=0 t=0
_ Elog(1+tan t) 2
- f04 sec?t sec”t dt X " t=—
V2
| = [+log (1 +tant ) dt —(1) _E g
. | =[se tdt

F(t)=log (1 +tant)

F(g — t)=log (1 + tan} - 1))

—tan L‘)
1+tant

Judv=uv—-[vdu

Jgtet dt={te - e‘}s

=log (1 i i
=gi5-en)—(0-¢%)
=lo (1+tan t+1-—tan t) 4
=109 1+tant

G =108 (i)

:32{%-1}+1

4). ¥ + y = 166160Tm el L GHletr y> = 6x

foa f()dx = foa f(a—x)dx 616U LTeusmeTSSm@GLd Gumgieumeor
SITBISS 60T LITLInLIS SIT6u01 S.
1= f410g(1+tant) t-(1) Sirey :
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o L Gdletr waiur® x* + y* = 16 --- (1)

uTeusHETWS ST FLoerLr® Y= 6X ----

(2)
(1)& (2) Sirey
X?+6x-16=0
(x+8) (x-2) =0
X=-8, x=2
X=-8 y=6(-8) = - 48gwerg
X=2 ¥=6(2)=12
Y =483
Caemauimer LTLILETR] = 2 { (1pg6

smeoeul L L@dlullest Lyl }

= 22V x7 dx + [ VF = x7 dx )

—2{{f—} +EVI6= 22 +3
sin 1))

4“6 Gl + 16— -2V/12 - 16@

=% {4n+43}

5). upeuemeTd Yy = X* + 4X + 5, XDIE&
Car® x= 0ommid X = 1 gyp&lweumhmTed
LUl BeTer  QrEISSSler Ll
X- Q&Fm&l QUTBSGEF Spnmlemmed

2 HeuT@L FLGumeflsr

S60T B|6T6MELT SHIT6U0TS.

girey :
LIS Sl SLoeorum(h
Y= %+4x+5

eTouemeusHeT X =0, X =1

www.TrbTnpsc.com

X QI&mELOUTHSSIS SHMULEILD
aLpmmiuBL grTRiIsgSdler urliLeTe]
JOUBSSID

S60T 96T6| \V/ = nfol(X4 + 4x +5)2 dx

=m [ (x* + 1607 + 25 + &3 + 40x +
10x?) dx

26x3 40x?

=n{% +—+ +—— + 25x};

=n{>+ 2+2+ 20 + 25}
5 3

_ 838
- T
15
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10. #TSMyenT eum&s0lsHE

FLoGTUT(HS&6T

2 Qe ST

1. Geieumid auemsd: Glsws

FUATSTL g6l sufleng LomgLd
Ll &T600T S ?

(d3—y)2’3-3@+562+4:0

dx3 dx2 dx
Sirey:
()= g2y gl _ g

dx3 dx2 dx
SOTLL(HSS,

auflems = 3

g = 2

d2 d d2
s * W) =7 100 ()
616U 6N & 0l& (&
gueTurliger euflene LHMID Lig
SITEU0T 5.
Sirey:
oufleng = 2
QL ETT60, [@)616216088 618 W&
FL0GTUTL 6mL LIsDaYIMILIL|E
GCameme
FLRTSTLTS 61105 @IeTg).

« Ll eusmTwnISaLLL allsdenev.

. @@ Gurmefler Geliublame T-
ol QurmISE el Wssb P-
6ot LryeigLomerg), opeil
JUS55HDE Gpit
alflssdlain, Crr alldlssmi,
Qauuflemeullesr  uTSsSIHMHG
srlTelSlaSSlain 2 arerg), eTerm

@uinifuied 0
626116l6UTEITEMEITUILD ~ SFLOGUTLITL TS
TGl ?

Sirey:

www.TrbTnpsc.com

QeutiLflemev T-eoit QUITMISG! o %

P-6uT LOTMIOISHLD
aP P
— a —
ar = T2
dP _ KP
ar ~ T2

. a@m  Gomerauges  wapsgiefl

pergl  giger  susmerLiTLileoT
wrneisssnG Crialdlsssle
S elwurdlmg) wenLpsglaflser
QTS Slert wTneiESms
2 6TeTL SeRliLl O L:E: AR
SLIGITUTL6DL 2_(Th6UTE SH5.

Sirey:

QLTLD 1, SH6TIIGTE| v, CUGHETLITLIL
S

60T Q|6T6] — I, UEMETLITLIL — V,

v:g 713, S.A = 4ir2
dv dv

—a—-A,—=-kA
dt dt

4 ar _ 2
57[(3[2)5—- kdnr
Lagum—

dt

. Y=2X? guarurLrerg xy = 2y

6T6UTM SFLOGUTLITL Lp 6T ST U (GLD
616075 HITL (h .

Firey:

Y =2¢

Y = 4x

X et Q&8

Xy = 4%

Xy = 2(250)

Xy = 2y (1 —e eLpevtd)

3 Mark Questions

1. (a, o)ummid (-a, O)6TEmLD
yeteflser auflursd Cgaain
Al L& Qam@dlullet
QUM S 08 (DS FLOGTUTL 6L &
SIT6U0T 5.

Sirey:

smowid : (0, b)
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Ugrared Gammid eLpeuLd
o oumib (r) =va2 + b2
oL Gdlewr eoeurum(h

X+ (y—bf=d+°
uSLILMHSS,
2x+2(y-b)2=0
X
y-b=-%
dx

b=gy+y

(1) ~ S,

o]
(G R =d (G [+ (B
(xz—yz—e?)j—i’-2xy=0

2) g dliysteflpsmw  smiowioTSHeLD,
Q&sbayiLd y 3| & Fleur Y
GolwrisemeTud Gl&EmeiL  HerTeul L&
Q&G dlulleur NS08 L)
FLOGTLITL 60L& &IT60078.

Firey:

boTaIL L S&ler &Loeorum()

x2 2
_+y_: 1
b2 a2

LMTMS$S558 WwrMlelser a,b
susmawilL — (1)

2x | 2yyr _
't -0

ausmawil — (2)

RNy O 3)
b2 a2

(1), (2), & (3)ewr eipsud Yyjewntl Guig LD

x2 y2 1
X yy' 0(=0
1 yy"+y'2 0

www.TrbTnpsc.com

Expanding along — (3)

1x(yy" +y'2) — yy'] = 0 (C3aufl
gy smevr)

Xyy" +x(y)*~yy' =0

3) Fidhes 2 = (3x +y+4f

Sirey:

Z=3x +y + 4ete0rs (LS ed (psmm)

d d
dx dx
dy _ dz

dx dx

Z—i = (3x + y + 4§ e Gy,

az =
—-3:=7

dz _
E‘£+3

f_22+1«/3_2 dz :f dx (ordsmer If&ED pamm)

% tan’* (5—5) = X+C

1t _1(3x+y+4

N 3 )=x+c

4) y = A e8+Be78, eregd
SETUTL WL S QIST6mTL  6UMET6UEMIT
GhLUSSleT eumss6lsy) FLweTUTL L
sTeie: @mE A, B eeruar @\
Lompledlae6i.

Sirey:

Y = Ae™+Be™

suen UL,

L - A 8Be™
dx

auemaSUIL,
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227 — 64 A" + 64 BE*
dx2

= 64 (A& + Be®

azy _
— =64
dx2 6 y

. . 2 _2dy dy
4) GBS Y +X —= Xy —
) Bities y+x"—== xy —
Sirey:
FLOGOTUIML 6mL
d
v __y2 6T60T erLnglsuran
dx xy—x2

&LOLILI S&TEIT SFLOGITLITL M(GLD
dy dv
= = + X—
y=vxand==V+x-

dv v2x2 v2 \ x2
Vxs =22 o ()2

dx x(vx)—x2 v—1/ x2
_ V2 _v2-v2+v
X—=——-V\y =
dx v-1 v—-1

f “av={ C;—x (orlsemer 1NMSE60)

1\ g —

[(1-3)av=

—log|v| = log|x| + log|c|

= log |vxc|
y = vx @Bl v = y/x steorit i,

— Yy

y/x = log |;xc|
M =cy
y =ke"* diaum@id
5 Mark Questions:

1. gyrsusdled em Gamguils 50s
gnienowimer B 2 6Tengl. GSTL&S
Crid t=0 -60 ey I LIT Biflew 2 &) afgd
SOISSUULL 2 LILSMISQTargl 6
Bl gdm@ 360 eisn Camliguiled
alLlu(pdlngl. — QSsomen  EETE

www.TrbTnpsc.com

&S SLILL () 365 ais Sl
Qarlipulsy @wmEgs QauafllCunfing
t>0 eeud Camud @  Crrsdle
Qariipuilsd 2 ater 2 Ller gerelleners:
SHIT6001 5.

Sirey:

t Crrgdled 2 (ler ojemrey X 6TeuTSH
% = (e_aTElempwd aizid)— (CeueaflGimd
algih)

= (281*360) — (3/50x)

= 6- 3/50x

dx 6*50

dt_ﬁ( UE

) = —(x-100)

dx
x—100

—dt

QamenaullL,

dx _ -3
fx—lOO _Efdt

Log (x-100) :;—s +log c

og (29 =2

x—100 -
. @31/50

x-100 = c&’** @
t=0O6teofld x =0
(1)» 0-100 = c&» ¢ = - 100
(1) » x - 100 = - 100&*°
X =100 — 100 &%»°
X =100 (1-87%%

2). SiTe SmetTa

Z—Z+ 2y cot x = 3% coseé x
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gire] y-60 gemwig Criflweb
UM S S0l (NS FLIGTLITL TGLD.

Y- py=Q eLar i,
dx

P = 2cot X,

Q = 3% cosebx

Qaremaul Hié sy = P9 = g2cotxdx
= &% sinx| = €9 |sinx|? = sirfx
FLOGTUML 1o 60T SiT6y

y €P¥= [ gesPdxdx + ¢

y sirx = [ 3x2coseéx sirfx dx +c

y sifx = [ 3x%dx + ¢

y sirfx = 3"3—3 +c

ysifx=x+c

d xX—y+5
3). SolveX = 22>
dx 2(x-y)+7

LetZ=x-y

dz a a az
_:1__y:_y: ——

dx dx dx dx

dy _ x-y+5
dx 2(x—y)+7

dz _ Z+5

dx 2Z+7
dz _ Z+5
dx 2Z+7

dz _ 2Z+7-Z-5 _ Z+2
dx 2747 2747

2Z+7
Z+2

dz = dx

Mdz = dx
Z+2

(2 + %)dz =dx

Integrating

www.TrbTnpsc.com

2Z +3log|Z + 2| = x+c
2(x+y) + 3log|x — y + 2| = x+c
Example 10.30

4). g Gam ipulsd 2 aier 100060 Bifled
100 Slymb 2 U seorhgleTerg). Llenyeor
IETLG OILMGE IILTSdHls Qamevr
o [ &60I] & 60T (L. OULPSSLOTS
Gemgwid GCarTor(H  SHEMIEMGLD.
Geogeosr 1 Bl gdlneg 1060 el
2 ' GSSUILOSImg. Goaid eeiGsum
oL miflegnd 5& 2 (1 SemyHEIeTeTg)
Qarlipuled 2 ater BITemg GSTLiHS
SGSIU M FTTs  meudsUuL (e erg)
Geogeer 1 BlblwsdmE 1060 afsib
QeueflGwmiSmg t Crrsdled Qam igullsd
o aTem 2 L9607 9|6TEn6IS SIT600TS.

irey:
t Crrgled o (leT 96Ta) X 6T60TS

% = (2_aTmIemYuD afzn)— (QeueflGuimid

YY)

dx 10
= =50 -—x
dt 1000

= 50 — 0.01 x = - 0.01(x-5000)

& - . 0.01(x-5000)
dt
dx

x—5000

=-0.01dt

Log |x — 5000] =- 0.01t+ log ¢
x-5000 = c& !
x = 5000 + c&° (1)

t=0, x=100, 100 = 5000+ c

-c = 5000 - 100
-c = 4900
C =-4900
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(1) =) x=5000 — 4900 %" 6500 — 165s +°s= 6400 — 160s +°s
5) oG utsdisde  100° 6500 — 6400 = 165 s — 160 s
Geuliurblemevuled Qardlsg)
QamevtTg (&G BITerg t = O eTayid 3=H00
Crrgdld  QOLIdIGEs — @més, s = 26c
GSofliTusNETSH FLoiwieuenmuiled
massILUGSng 5 BlLriseEnsEL gpmmuilar Qaliublme S = 20C

Ing Bfar Qalubme 80°° Guand 5
TEILIL_réia5(6H & (SLD Un@ thifleor
Qautiufleney 65 o4& GmmEma) eeoflsd
guwesnmuller Qeuliublensuenil SmeuTs.

Firey:
t Crrsdle
T —piflest Gleuliukleneo

S —gmmullert GleuliuFleney 6Teurs

E(XT-S

dr _
L =K(T-9)

AT _ dt
T-S

Log (T-S) =Kt-C

T-S=6&"¢
T-S=ce - (1)
t=0, T=100 (1)= 100-S = Ee

c=100-S
(1)= T-S=(100-SYe --(2)
t=5, T=80

80 — S = (100 — S)¥

5k _ 80-s
100-s

_(100-5)(80-5) ,(80-5)
(100-s) 100-s

65 -5

(100-s)(65-s) = (80 — %)
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11. flepgsay
LI 660 & 61T
2- wdlGueueT alleoTTs 6T

1) x -6TeuTLIG) eLpeurm &rmeor
GTemTLEISemeT 66T FLowddlen
aer(HLGLTg) el L &safler
6760076001160 6T60T&. SFLoUTUILIL] Loma)l

X -ar wdllysemeruh gger Criromm)
Mibukiseafled o ater et eaflaafler
6T6UUT6UBT| SH6MESHEMILILILD SHIT6UTT .

aire :

S = {HHH, HHT, HTH, THH, TTH,
THT, HTT, TTT}

X eTeurLg) L, Saerleut eTenTeuntldhemas
X=0,1,2,3

X" ({0) = { HHH }

X*({1}) = { HHT, HTH, THH }

X1 ({2) ={TTH, THT, HTT }

XT3 ={TTT}

www.TrbTnpsc.com

Slibumsigsaflerr eresmsmNasmaemiLiLLD
STV S.

gire : n(s) = 5G=5C,= 10

X s1t1ug) CoHMHESHHGHSULLL 3
UhHGISHeMed SSBLIL LihGiseTest
6163016501166 8>

X =1, 2, 3[X=0ee108 QRO

AUTGHSTEI ]

X=1=>X(@®n o0y uhg Sl &s)
£,32c,
= 3*13

X=2=>X @uevi(p L UbHGIS6N
SO 68) =3* 2c,

=3*2 =6

X'=3=>X(3 faly ubHs&en HenL66)
z3= 1.

GLOGUMUILIL] 1 2 3 | Gorgsid
Lomraludleor

L&y ser

tommlufleor

gl ser

GrLoeumuICiL 01 |2 | 3| Curggw

CrTomm 3 |6 |1 |10
Hibumiseafler
2 miiysefleot
6T6U0T600T] 5618

GmTomm) 113|318
Ulibusig eflear
2 milijserfles

6T6U0T600TIS60 S

2¢(® Mg ufed 2 Qeueiemen LAHMILD 3
&eULIL L6 2_efTeneul. SrLoaUTLILIL
Weomulled 3 Libgi&6T Mg UNES[HHS
sTRSsLLOSlaTneT X 6TauTLg)
ColhRd(HeLLILL SleULIL LihiseTest
s16t16TN 6 &emiLt 6T6aMl6d SLoeumiitiL] omg
X & wdllysmeruh gger Criromy)

3) ewevrmy iy EremNLBISET G
Crrgdled aremiLLiL(hleormeur.dlemL d@L
SemeS6iTled 6Teunr6nfl&6m&Hulleur
Bl&wWase Hlamm smTiifener sremrs.

Sirey :

S ={HHH, HHT, HTH, THH, TTH,
THT, HTT, TTT}

n(s) =8
X eTe0TLg) SemeuaeileuT 6TeunT6unTIEH6m b

»X=0,1,2,3
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f(0) = P (x=0) = 1/8 f(X) = ne,p*q"

f(l) =P (X:].) = 3/8 . f(X) = 1ocx(%)x(§)10—x
f(2) =P ( X=2) = 3/8
f(3)=P(X=3)=1/8 3 udliGuemr alarmsgar

: . Flapsse fleom sy 1) @ Feumiiliy wrl x &@ Hlapssea)

1 Blemm &irLimenr g
f(x) = 4 8x=03
(x) {Ex—l,z X 1 > 3 2 5
: F(X) | k® | 2k% | 3k? |2k | 3K
4) gwaumiiy wrdl X af Bapsse (i) srafled K wdliy (i) P (2< X < 5) (i)
- P(3<X) 9 Sliaimemm &6 ss.
o) ominy. mafiss F {Kve ™ >0 (3<X) Qywsupeom
steufled K -gur Lodlliemu Smeuis. gire :
o i i) F(X) Blawsse blemm &t
,Q‘;frﬂ-l :f xNe= X dy = :+1 ) ( )!ﬂ Ys 6’-|!f>] m y
0 a
FO) Hemonl oiidH s Y =1
':>foof(x)dx=1 K2+ 2K+ 3K+ 2k +3k =1
o, 6k’ +5K -1=0
—2x —
P Jp e =1 . 6k2+6k-k-1=0
7 xm e erdx =1 6k (k+1) -1(k+1)=0
> kf; xe dx =1 (6k-1)(k+1) =0
I [ 1! ] —1 K=1/6 , k= -1@EuUrmbB3Ts))
2] L K=1/6
k(l)zl =>k =4. )
* i) P&XEx<)5)

5) @ drmer ussmL 10 Wem

o L LLuGSmg) hmih eTewT = P(X=2) + P(X=3)+ P(X=4)

= 2K+ 3K + 2k
GCararmieims X GMlsSng ereflsd = 5I€ + 2k
FFEG@ILIL LITEUEMED SIT6u0T .
GOl =50 + 26)
Sirey : — 512 _u
T 3% 3

n=10
i)  P(3<x) = P(x>3)
X = 4 GgmeiTmieug6uT 67600160011 6mE
DIDE = P (X=4) + P(x=5)

P =g useLuls) 4 leoLss =2k + 3k = 5k
Flapgse = 5(1/6) = 5/6
=1/6

q=1-P=1-1/6 = 5/6
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2) geumitiy wrmdl X ef Lresh FmijLy I x.f(x) |3/6 |4/6 | 3/6 | 10/6 |
0 -o0<x<0 CE)=Xaf() =2
F(x)=<1(,2
)= +x) 0<x<1 =5/3=1.67
1 1<x<8

. . \ . . . =1.67
(i) ereefled Flapsse) YLTsSH ey f(x)

) O . X? 1 4 9 GloTg gL
(II) P.(0.3 <X<o0. 6) Q‘baﬂu.lsumsmmas f(X) 3/6 2/6 1/6 1
ST &. xf(x) [3/6 [8/6 | 96 | 20/6
girey :

Yf(x) = F’ (%)
0 x<0
f(x)=f () ={;(2x+1) 0<x<1 E(X®) = X x2 f(x)
0 1<x<8
=20/6 = 10/3
1
-(2 1 0<x<1
F(x) :{2 2x+1) =X Variable(x) = E (X) — [E (X)]?
else where
(ii) P (0.3< X < 0.6) =103 - (5/3)
= F (0.6) - F(0.3) =10/3 — 25/9
== 2=5/9 = 0.56

=-[(0.6) + 0.6] --[(03)2+03]

I\)IH

Variance = 0.56

=>[036+ 06] -3 [0.09 + 03]
4) 600 &8 (H&6T OSTEmTL 6(M
g [0.96] - = [0 39] oorLLflulled e Lfla: em 200 &L
BrenT S uflsser e 100 &G0 Qum
= 0.48 — 0.195 = 0.285 uflaaei e 50 S@Lh sTemés
. Qar(hsdng). w&s Qe em 2
3) F(X) = {== x=1, 2, 3ot Blaipseny ETETMTE) (T lp L I 6T
bleom gniller Egraf] , ureumug sTHliTumTSsUu@LD Qaummls CFmenamw
SHIT6U0T 5. GeuuTLMlwieLd .
airey Sirey :
X=1=>f(x) ===3/6 n(s) = 600,
X = Qeucdguid G mens; eTeutlen:
X =2=>f(x) === = 2/6 g
X =em 200,em 100,em 50,¢em O
X =3=>f(x) ==2=1/6
S plensse) Hom iy
X 1 2 3 Total

X [200] 100 | 50 g

F(x) | 3/6 216 1/6 1
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F(X) 1 4 6 589

600 | 600 | 600 600
X 200 | 400 | 300

FX | 500 | 600 | 600 | O

E(X) =2 x F(x) :%
=3/2=1.5
lp &L g6t oilemey = RS, 2
eTHITUTTSSLILEHLD
QeumMsCgTma= 1.5 — 2
=Rs. -0.50

5) 4P (x=4) = P(X=2)odmith n=6
sTILDLIg 2 6Tem X~ B (n,p) & Lipeuedleut
gyrafl, S Lalwssh sramns

aire :

n) P (X=x)=10p*q" ™
4p(x=4) = p(x=2)
4[6c,p*q®*] = 6c,p?q" X

4[6., p*q*] =6,p%q*

42 =L

p2 qZ
47 = of =(1-py
=1+ p-2p

=>4f-1-pF+2p=0
3p*+2p-1=0

(Bp-1)(p+1) =0

P=;. p=-1Qurghsrg)

:>q:1p

www.TrbTnpsc.com

2
P 3

whle
wl+

=> q-= 1
P(X =x) = 63" Q)°

&Urr&rﬂznp=6x§=2

gl Lalevdad D = /npq =V6 6X§X§

4 2

3 V3
5 wdlGlusuT elleurmdaer

1)dfirmenr @\ LSEmL &6t

o LLLILGSMG X eTerLg @)(H
ugLUTle) HlMLSG &l (HGOFHTmS
steafled (i) nmiGleuerfl (i) x &Losumiiiy
rdlulleer dliysear (iii) 10, o7 CriTomm
ibumigser (iv) X, eor Criomy LlbLkiser

Firey :
(i) & miQeuafl
S ={(1,1) (1,2), (1,3), (1,4), (1,5), (1,6)

(2,1), (2,2), (2,3), (2,4), (2.5),
(2,6)

(3,1), (3,2), (3,3), (3,4), (3,5), (3,6)

(4.1), (4.2), (4.3), (4,4), (4,5),
(4,6)

(5.1), (5.2), (5.3), (5,4), (5.5),
(5.6)

(6,1), (6,2), (6,3), (6,4), (6,5),
(6,6)}

n(s) = 36

(i)X: @muasemLulled 2 6Ter ereunrseifleo
&L (D0 FmTema

' X=2,3,4,56,7,8,9, 10,11, 12

(iii) 10,60t Ciromy Wibumkiger
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X" ({10}) ={(4.6) (5.5) (6.4} - p(xc0) L=
ek e

= P (X=0) + P (X=1)

X, et Wl s6r

2|3[4]5]|6]7[8]9]10]11[12] Total |
Criomm Llburisefler 2 il geflsr

X=2 => F(2) = P(X< 2)

6T6UBT6UTT| 561 5.
= P(X=0) + P(X=1) + P(X=2
1]2[3[4]5[ 6 5 4 3 2 1 36| (X=0) + POE1) + P(X=2)
1,2 . 3_5_5
—t—F—-—=—=-
K K K K 8
2) e Sevflblemev FLosumuiiiy omdl 0,1 . :
Lhmid 2. dliysemen Ll GG T 0<x<<01
G& e (EmHLD 6T60TS. . Nl 3 .
2 Q) S1<X<2
x2+1
f(X)={ P x=0,1,2 1N <
0  otherwise (ii)P(X = 1) = 1 — P(X<1)
6T60T suUEDIWMISSLILL L FlSpSHs6 _ I Py 21
Bleopesriing (i) K e wdliy (P(X=0)) 0)
_ . 7
(i) @edey LTeusd &miry =137%
(ii)P (X=> 1) Sydweubemy sremis. 3) @it QOGS LsmLUTED e
ussgdle “1° ererd @GN LU S mg).
&ire] : J\F6T @\ uSsmsafled “2 sara|
: . . . LSS (LpsiTem eLpeuTy LisSmigertle
()F(X) etauTLg) Blagase Blamyamiy “Faarat GHESILEHDS . Gy
02+1 1 stflgedlent Grgss Csmamaemut X
X=0=>10) ==—=¢ Gls&Img) eTevflev
X=1=>1(1) =" = () Baiygsal Hmperiy

(i) @edley ureush &miy
X=2= f(2) :ZZT-'_I:%

(i) P (3< X < 6)

LX) =1
(iv) P(x> 4) ) Qpdlweunenm smeomrs.
1.2, 5_
ikttt ey
= E=1
X usenL_uflesr GLogh 2 eitem eTewTE6IT
= K=8 .
1,2,2,3,3,3%©W

(HF(X) = P(X< x) X GsusmLle o HEesTme

X=0=>F(0) = P (X 0)
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1 2 3 3 4 4 4
2 3 4 4 5 5 5
2 3 4 4 5 5 5
3 |4 |5 |5 |6 |6 |6
3 4 5 5 6 6 6
3 |4 |5 |5 |6 [6 |6
UL susmeorullsOlmb gl

X=23456

X =2 =>(2) = p(x=2) =
X =3=>f(3)=p (x=3) =
10
X=4 =>{(4) = p(x=4) v
12
X=5 => {(5) =p(x=5) =
X=6 => (6) = p(x=6) =

(i) Plepssa Horsiy

X 2 3 4 5 6

F) | L | 4 | 10 | 12 | 9
36 | 36 | 36 | 36 | 36

(i) @oTey uausd ey
F(2) = POE 2)

= P(x=2) =
F(3) = P(& 3)

= P(x=2) + p(x=3)

F(4) =P 4)
= P(x=2) + P(x=3) + P(x=4)

1,4 ,10_15

=4+ — 4 —

3% 36 36 3B
F(5) =P 5)

1,4 10, 12
=—+—+=+

36 36 36 36

www.TrbTnpsc.com

27
36

F(6) =P (< 6)
1 4 10 12 9
St — =+ —
36 36 36 36 36

:£:1

M—o<x <2
1
3_6 2SX<3
>
36
F(X) {15
36
27
= 5<x<6

\]l 6<x <

3<x<4

4<x<5b

(iP(B<x < 6)
= P(x=3)+ P(x=4) + P(x=5)

4 10 12 _26
+=+= =

3% 36 36 36

(V)P(x= 4)
= P(x=4) + P(x=5) + P(x=5)

_o 2 9_31

36 36 36 36
HF() ={ex" L<X <4 agys griny

0 otherwise

R ILTSH ey eetlsd wmfledl C e
gl sremis. GLogib
)P(1.5<x<3.5) (i) P(x 2)
(iii)P(3<x) gy Slweumemm Seurs.
Sirey :
f(x) Blanssn ILTgH emiy
> [° f)dx =1

= ffcxzdx =1

3
CRI*=1
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3 13

ChE-31=1

Cl-3=1

CE)=1C@1)=1=>C=

()P(1.5<X<3.5)
= [22f(X)dx

35
=5 cx? dx

=c[5]

_1 @353 (1.5)3]
3

= 6i3 [42875— 3.375]
395 79
(39 5) 630 126

(iHP(x< 2) = [ f()dx

Zflzf(x)dx = flzcxzdx

ol = -

(ii))P(3<X) = P(x>3)
= f; f(x)dx

:f34cxzdx = C[Xg]g

_1[# g
IPAE 3
_27

~ 53 3

www.TrbTnpsc.com

1 _37
—&[ 64 -27] =

X
5) F(x { x>0 gramup
) FCJ 0 otherwise o1l

plenssn JLTgd eriy Wn

LSS EHSE 2-6T6T 6, SELoaMIL]
oril X &@ arraf] whmid uremLe

SHIT600T 5.

Sirey :

syrefl = p = E (X) = xf(x)dx
= [ x(Ae™)dx

= fgoxe_“dx

[f x"e"¥dx = ']

an+1

E(X?) = f_oooo x°f(x)dx
=fy (e™)dx
=) f, x2e™dx

[w] =2 (5) =52

LIT6UMLILy

V(X) = E(X?) - [EX)I?

1\2
-6
_2nNN1Y 1
22T a2

6) ABC @l swmiflé@t
Qumr L sefler arraflure 20%

UL &6T GmMUIT(H6TETEmE 6T60TS

st lwiuBSng). soeumuili]

weopuilsd @HledlmEg 6 QU@L set

Caimb0shEsluBSIng -GLogb
Geomurerer QummL sefler
sTeuuTenTlSHemaEmw X (GHSSHTe0
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1) @@ Gur@Lsar @Gsmmur(bheTeTeney _° 102
T 5%xs
2) gilsul &l s QU6
. —o(.4\5

SOMUTH\6T 6T S =2(3)
3) GMBSULED B\ (i) GomBSUL & B\
GomurGateTmen oy Slwauhemm GmmuT@®aTeTeme gy Slwainsmm
Be)ss6| &Tes. Fl&D&6| STevrs.

gire : PO 2)=1—P(x<2)
n=6 =1-P&1=1]
P =@mmur@®erer QUL seflsr P(x=0)+p(x=1)

I EREEDY =1- (%05)

_ _20 _1 o
p—20%—m—g :1—25 .

_ _a1_4
q-= 1-P = 13 =

f(X) = ncyp*q" ™™

f(X) = 6oy @*@°™

X=0,12,..6

(i) @@ QU@L &6 GmmuUT@aTaTsma
P(x=2) = 6,()%(0° %= f(2)

6«5 1 4

R A=
22
= 15%)

(i) Flsul g e Qummer
GsomurbleTers)

Px=<1)=Px=0+Px=1
= 6e0(5)°Q) %+ 60, () ')
= (1) (1)‘5‘—z+ 6 x§x2—2

46 5 45
=566 =569
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12. geflflenes e dlwied
2 —dGuewT eleorm ___ aflewL:

1. i @umaeuells gemwlidle Fioefl
2 miiumeerg) (2_67g) eTeuflsd)
QLSSm0 umiihEHg): SlermLl.

1lempLi6uoTLD:
(s,*) sTuTLIg) T @uimsemils gjemioliy
6T60T S

S-eot Fuefl 2 MIiLSE6T e, e, 6T6ITS.
Y36l e, & Fuerfl 2 LTS e, M
sCs@ID 2 MIIUTSa|D ClSTewTL T
EUEMTLIEMMLILILY

e, e, =e*e; =e; >

e;, 8 Fafl 2 miursea|d e; & S
2 MIUILTSEYLD 6T(HSGI0lSTeuuTL 60
ei*e; =e*e; =g >

1,2 -a@hal,

€1 =€

aoefl 2 Mty eHEmL SeuTenio
UM S G-

2. Quinsemnils oemliiled ei

2 miidler eTdliemm (@ wLidler)
R(HELSS6T6mL eumiihb gl HlemUl.

16lerpL16uoTLD:
(S,*) sTeTug) eif @uimsenils gjemLoliy
6T60T& A€ S 660 S

a -6 6Tl wewm 2 ML &6
a, & a, sTeoTm @\ 2 MIIL|S6rT eTeufled

a*a;=a;*a=e>Q
a*a,=a,*a=e->Q)
a,=a,*e =a, *(@*a,) (2-6r Lg)
=dy * @) * a,
(Gl usmTlewTLig )
=et, (1-sr L)
825
(geflusworileuTLig )

www.TrbTnpsc.com

a; = a,.

_[0 1 11
3.LetA=(] J|.B=[; ] asdu
@rewTOd 6Gr euemawWITeT L e0lwiseT
J\ewilaer eTenfled AVB Lwmmih AAB
L Swsnemm Smeos.

Sirey:

ae =[] ]v[p 4l =
Ovl 1vil

1v0 1v1

f

ae =) glefy )

1
oAl 1a1
1A0 1a1
4 0 1]
0 1

4. R -aur gl * guergl (a*b) = a+b+ab-
7 6T60T eUEMTWIMISSILL LT *, R —6uT Lig
SimLe| GunpisTersr? gy eleurGimeuflsd
3* [-7/15] &mevirs.

Sirey:
a, be R et60Ta
a, b, ax R.

~a*bh=at+b +ab - ¢ R.
sa*beR

* oLergl R —60 gjemLeu GlummiaTergi.

-7 7 -7
3* —==3-—+3*—
15 15 15
_45-7-21-105
15

_45-133
15

_-88

15
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5. * ereorm F@oIILE Gewedl gyers A
= {a,b,c} stevim sewrsdler g
uflorhn elds@ s EUuL LT
Weotu(mid UL lgwismevlt Ly T&s GQlauis.

* a b C
a b

b C b a
C a C
Sirey:

(i) oI Leuememnuiledmiag, b *a = ¢
a*b = c (fMurhy vewry 2 mLwg)
(i) c*ra=a, =>a*c=a

(i) b*c=a, =>c*b=a

*

Q|0 |o|®

b C
C a
b a
a c

O|T|Q

6.(pVvqg)A(pVv—q)-er Gloulemio
I L QUEHEWTEDILIS &(IH&:

Sirey:
P 1q |—-q |pV |pV |(pvO)
q A(pv—Q)
—q

T [T [F |F [T [|F

T [F [T [T [F |F

F |T |F T |F [F

F |F IT JF T [F

3 wdliGuemt ellerm allenL:

1. Qar@ssiu’L sausdlar g
Uereupd GEwedlwrerg (i) SjewLel

www.TrbTnpsc.com

uewry (i) wflommmit uewTy wHoID (i)
Gamiiy LIGOTL Sy Slweunenm
QameT(haTem ST eTeurs: SFlLTT &

Sirey:

atb=a’;vabeN

Soln :

() a*b =a’? €N ;V a,be N eerug
2_GUUTEOLD,

o N-gperg) *-6r &ip jsmL el
GummieT 6T .

(i)a*b=ab
b*a =b*¢
puta=2b=3
a*b =23 =8
b*a=32=9
a*b=b*a

~ * gperg) uflomhm Uewy Blemey
Geurg).

(ija*(b*c)=a*b = abc—>@
(a*b)*c:ab*c:(ab)c=abc—>@
a*(b*ck(a*b)*c.

- * oparg) Gyl LsuoTenL
fleomey GlEumg.

2 . detreu(pd &b snmm Glowienio
Jloeg) (Prewrur(h 306G
l&awiblesTenio eTeiTm| SHTeuTas.

(P~ @ A=(p—>—1q)
Firey:

Pl gl |—|(—|— (pe—
=|q | —q [(p— |9 AN—
q) q (p~>—q)
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TIT[T[F]F [T [T
TIFIF|[T|[T |[F [F
FITIF|F|T |F [F
FIF[T [T [T [F [F

soLdl flred T v F Sokg
EU(HEUSTEV CarhssiulL & MM
Guienn 9|66 (pFEETUTHILD i B)\G
@ HEswiblarmn g @Lb.

3.(p—a)A(g—r)—>(p—1r)
Sirey:

I CR N A ER L O
ACg | A(q
-0 | =

(p
—1r)

T |T [T |T T | T T T
T[TIFIT[FIF[F T
T |F | T | F T | T F T
TIFIFIF[TI]IF]FE]T
F (T | T |T T | T T N
FITIF|ITI]F[TI]E][T
F|F |T |T | T|T/|T T
F |F |F | T T | &l T T

seoL & flyedled T w(Hb 2 6TensTed @5
6(m Gloulsmn g @GL.

4. Qouienly 9L L 66M6ToT6MILILI LILIGTT

ubsswre p— (-1 =(pAq)-r
steur [l(pLUlG.

16| pLisvuTLD:
p->(@->rN=p-(—q vr)
=—-pvEqvr)
=(=pv—q)vr
[ Ceriiy uevoTy]
=—(pAq)vr
[ - wTTS&eT eld)]

www.TrbTnpsc.com

=(pAqg)-r.
BlpUssiul Lg.
5. X, Y 6T60TM 6TEUOTS6T X = Y 6T60TMT UG
2 giieng) eTeofled, Wewteori x? =y? ereurm
Gn M) FLDLOGSLOMEIT LOMIGH6EM6V, 6TlTLOGmM
LHmILd GETLOTMISENET 6T(L)SISEmEN.

Firey:

P : X, \ST6UTM 6TGUUT&HET X = Yy
6TEUTMEUT)| 26T 6T Gl

q x? =y?
Carhi&sUul aTer s.mmi: p— q
1 mismev g— p
x LoMEILD y 6TeUTM eTewiT 6T X2 =y?
sTeuTmeung) 2 aterg ereufled Newteori x =
y
2 srdlirwemm: — p — — q

X, Y 6T60TD @)(I, 6T6UGTS61T
X #y eTemeungyl 2 eiemg ereufled Lleureuri
x? #y? .
3 Griromm: — g — — p.
X, Y 6TeiTm @) eTewwTER6T x2 + >

sTeTmeung) 2 atemg eteufled Nevreri x
£y

5 -wdiGuerr allsrm alsnL:

1.ul@® i @ 0 QUTYISZ 61§55
Qar@dlseflear serd {
0,1,2,3,4,5,6,7,8,9,10 For 2 L semrd A
={1,3,4,5,9 } &F Ligl X, 6T60TM
QrwelsE (i) JemLaiuewery ( i)
uflommmi uevery (i ) Geriy uevery ( iv
) guefliuewiy (v ) srdliwammliusmiy

Sy Flwenemmé &fl uriés.

Firey:
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X11
1
3
4
5

R WO ool
N ERjw|oljo|©

O T~ WkF
g|h|RP|O|W|W
W olg|kri~>

9

i) 96mL6LI LIGTTLY:
I L euemsmorulledl(pi gl X11 A-60T LG
JlemL 6 LewTL GlummI6T6mg.
i) uflommmi’ uewT:
I L euemsmorulledl(migl X1 Lflommm)
LI6OUTL| 2_60L WIS (GLD.
iii) Geriyl uevoTy:
X116T60TLIG) oS &LTE: CETLILY L6mTLS S
2 ' LL gl
iv) eweeflll LewTL:
1eA sterugy) Fueafll 2 mitium@Lo
V) eTdliToemm LigueTLy:
I L susmeverulledl (g,
1 —eur e1linemm 1 e A
3 —aor erliemm 4 € A
4 gt e1liToemm 3 e A
5 —gor e1liToemm 9 e A
9 —auT eTliToemm 5 A

2. SLOM6UT LOMGUT6M6 LIGUUTL|S6m6ITLI

LU

p—=g=(pAq)Vv(—pA=Q)

6T60T&H ST (h\.

Sire:

p—=q=(p—0q)A(q—p)
=(=pVva)A(=qvp)
[~Pp—a =—pvV q]
=(=pva)A(=pva)
Liflorhn) usmrdleeTLig |

=(—=pA(pv—=q))Vv (@A (pVv—q

)
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LB B usoorileLig |
=(=pAp vVEPA —g)) V(@A
p)v(aA—q))
LB B usoorileLig |
= Fv(—pA —q)V(gAp) VF
Biriy el
=(—pA —q) Vv (qA p)
roef] eldliing ]
=(QAp) v(=pA —q)
[uflorhm eflglig]
=(pA Q) v(=pA —q)
piflomha eflglig]
p—g=(pAqg)Vv(—pA=q).
3. M :{(;C ;C) IXE R—{O}}*

TTLG Q|enllIGLmSS6 sTamd: GameTs
* ouergl M- e gl 9Ty
QeummieTensm 6Teurd; diromenfldas
ST Gimentlsd * gy erg M- et Lig
uflorhy vewty, Gariyl vewy, goefll
LI6uOTL| 6TSITLOGMM LIGUOTLIS6m6T [Hlemme
Q@eauor ereor Camdlde:

Firey:

i) SemLel LewoTL:
A=( 80 )
m8=(; DG )

2xy 2xy

2xy ny) SM

A, BeM=A*BeM

s * QLETgl QIenL 6 Lisuerl GlummieT 6T g.
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i) uflormmi) uewTLy:

A,BEM
Ae=(; )6 )

_<2xy ny)
\2xy 2xy

_<2yx 2yx>

2yx  2yx
G )G

=B*A

A*B=B*A

~* opergl M — 60 uiflormy) LssTL
GummaTeTG).

iii) Gerliy uevoTy:

Sjenflaafler QLmSse erlIGLTGILD
GaiTliy uemTy&E 2L L(bib

A*(B*C)=(A*B)*CVA,B,Ce

M.

iv) eLoeuflls LewdTL:
E= (2 2) sTeoTLIg M -6ur &loeofl 2 il
6T60T &
~AE = A
= (g ilg go) Nouutt)

“(ove 2xe) =G 3

2xe =X
2e=1
1
e= € R-{0}.
11
2 2
11 E M
2 2

@G6s Gurestmi EA=AVAEe M
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V) eTdlifoemmL LiewwTLy:

Ae M,
-1 x_l x_l o .
A =< 1 _1> A -ar e1dliToemm
x 1t x

6T60T .

AA=E

11

(x x)(x‘l x‘1>= 2 2
x x/\x7t x71/ \1 1
2 2

o !

<2xx‘1 2xx‘1): 2 2
2xx~ 1 2xx71/) \1 1

2 2

2x2x 4x
1 1
> 1| 4x 4x
SAT= T T e M
4x 4x

sTTLIG A - 6T erdhliTenm @)CsEUTsTN)
AlA = E steoreyld Smemreumid

. * oLergl ergliTemm LswTsnl Elemmey
Gl uIuyLb.

4)A=a- {l}amis A -t * g *
QUGLID eueTUMISSILGSNG X *y =
X+ y —Xy * gpergl A et g emLeu
QuimieTenar oeeurGmefled A -er Lig)
* ouergl uflormm ey, Geliyl
LIGTOTL, GL06uDTILILIGIDTL], 6T&ITLoemm
uemTLGemeT  Blemme  GEugom  eTeor
Gandlés.

Firey:
i) O6ML6 LIGTTLY:
X,yeEAeeaasx+1,y+1

X-1#0 ,y-1+0
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(x-1)(y-13#0
Xy—x—-y+1+0
1+ x+y —Xxy
=>x*y# 1
LoXFY EA
A% oLargl A -60 iemLeu GUmmIGT 6T S).

i) uflormmy Levery:

Xy €A

X*y = X+y-Xy
= y+X-yX
= y*X

~ * guergl uflommm uswTenL Blemmey
QauISmg).

i) Gerliy vewory:
(X*y)*z = (X+y-xy)*z
= ( X+y-Xy) + Z — (X+Yy-Xy)z

= X+Y+Z — XY —XZ-yZ +X¥Z

®
x*(y*z) = x* (y+z -yz)
= X+(y+z-yz) = X(y+z-yz)
= X+y+Z —Xy —XZ —yz +xyz>(2)
D& @ Al
xX(y*z) = (x'y) *z
~ % opargl Gaily Lemil& G 2 L ul.
4) sweofll) LeveT:
€ eTeuTLg) A -6ur &Loefl 2 miliy eTeuT s

XEA
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* 60T GUEMTIGHMLILIg,
X*e = x+e — xe
e-60T GUETIEHMLILIg,

X*e =X

=>X+e —Xe = X
=>e-xe=0
=>e(1-x) =0
=>e=—"=0
e=0€eA
.. * eTeuTLg) &oeufl 2 miiLy.
5 ) erdlifoemmLl LiswTL:

X! TeTUgI X 607 eTHITLoemm 6T60T &
x*xt=e
x+xt—xx*=0 [.e=0]
=>x1 (1-x) = -x
=>x'=—€A

* erdlifemm uswey Flewmey QauiSing.
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